Milling yStem

*EEMBHERIIM, J
*SKEK (4°) , EERKBEES. | 1
— g Finishing Foughing _ Plane Processing  End processing  Siootplunge miling
4 . S2EMIE, REE. AEM,

P02 ¢ High-speed engraving and milling machine specific tool holders.

P0O5- P06 @ Sk Collet (4° ), higher repeat clamping accuracy.

P02 @ Full Circle nuts, low noise, little wind resistance.

P03- P04

P09 RIZESAA Model explanation

E ;ﬂ%lﬁﬁﬁ?&mlﬁ | L
BABEERL
TR
W 71 177 1k

12

SK 1
HM
-
V \1
SR 301100 [1SO20- GSK6- 45 2-6 20 32 45 LMGSKO06 SK06 CX06 BSGSKO06 SDZIS020 1200
301102 GSK10- 45 - 2-10 27 32 45 LMGSK10 SK10 CX10 BSGSK10 SDZIS020 1200
301104 [1SO25- GSK6- 45 2-6 20 32 45 LMGSKO06 SK06 CX06 BSGSK06 SDZIS025 1200
301106 GSK10- 45 - 2-10 27 32 45 LMGSK10 SK10 CX10 BSGSK10 SDZIS025 1200
ADS 301108 GSK16- 45 - 2-16 40 32 45 LMGSK16 SK16 CX16 BSGSK16 SDZIS025 1200
301110 [ISO30- GSK06- 60 2-6 20 46 60 LMGSK06 SK06 CX06 BSGSKO06 SDZIS030 1200
301112 GSK10- 60 2-10 27 46 60 LMGSK10 SK10 CX10 BSGSK10 SDZIS030 800
301114 GSK16- 60 2-16 40 46 60 LMGSK16 SK16 CX16 BSGSK16 SDZIS030 900
ER
[—
o7 * SR E AT ﬂ ‘

¢ JER O 2 FEHERIE
*EE{K. AMB/M,
4 High-speed carving and milling machine for tool holder

¢ Non-eccentric full balanced round nut.
¢ low noise, little wind resistance.

RUEESHAA Model explanation

[NBT30]-/GSK|[16)-|60]

* GEAEPMBNES
BAREEE
ST

P02
P05- P06
P02
P03- P04
P09

TR

NS
301200 [NBT30- GSK10- 60 3.0~10.0 27.1 60 GSK10 SK10 CX10 GSK10 NBT30 800
301202 GSK16- 60 3.0~16.0 40 60 GSK16 SK16 CX16 GSK16 NBT30 900

Jco1



| SSKEIE (4°) , EERRBEES,

@ Sk Collet (4 ° ), higher repeat clamping accuracy. ST

¢ 2EIRME, REE. EMBEM

@ Full Circle nuts, low noise, little wind resistance.

BISES A Model explanation

BT40]-/GSK] [16]-[90]
* UERENENEE | L
BAMEHEE
P
TR
HM

P05- P06

P02 A ~ & ®J;

P03- P04
P09 ‘ L1 L2 ‘

G2.5 MAX.30,000min™

5B BRIFHRE  RF

collet COLLETPULLER  spanner

Va
Order oN ) % &\\ Weight ( KG ) SR
T2 N

301300 | BT30- GSK6- 60 60 0.7 950
301302 - GSK6-90 2~6.0 90 19.5 30,000 GSK6 SK6 CX6 GSK6 0.7 1000
301304 - GSK10- 60 60 0.9 950 ADS
301306 - GSK10- 90 3~10.0 90 27.1 30,000 GSK10 | SK10 CX10 GSK10 1.0 1000
301308 - GSK10- 120 120 1.2 1125
301310 - GSK16- 60 60 1.1 1000
301312 - GSK16- 90 3-~16.0 90 40 25,000 GSK16 | SKi6 CX16 GSK16 1.2 1125
301314 - GSK16- 120 120 1.4 1250
301316 BT40- GSK6- 60 60 1.0 950
301318 - GSK6- 90 2-6.0 90 19.5 30,000 GSK6 SK6 CX6 GSK6 1.1 1000
301320 - GSK6- 120 120 1.3 1125 ER
301322 - GSK10- 60 60 1.1 950
301324 - GSK10- 90 3~10.0 90 27.1 25,000 GSK10 [ SK10 cx10 GSK10 1.2 1000
301326 - GSK10- 120 120 1.4 1125
301328 - GSK16- 60 60 1.3 1000 (o)A
301330 - GSK16- 90 3~16.0 90 40 25,000 GSK16 | SK16 CX16 GSK16 1.5 1125
301332 - GSK16-120 120 1.7 1250
301334 - GSK25- 90 90 1.8 1250
301336 TGSK2E- 120 6~25 20 55 20,000 GSK25 | sk25 CX25 GSK25 20 1375
301338 | BT50- GSK6- 105 2~6.0 105 19.5 20,000 GSK6 SK6 CX6 GSK6 3.8 1750
301340 - GSK10- 105 105 4.2 1750
301342 T GSK10- 135 3-10.0 pre 27.1 20,000 GSK10 | sK10 CX10 GSK10 a2 2000
301344 - GSK16- 105 105 4.7 1875
301346 N RN 3-~16.0 o8 40 15,000 GSK16 | SK16 CX16 GSK16 w0 o125
301348 - GSK25- 105 105 5.2 2000
301350 NN 6~25 e 55 15,000 GSK25 | sK25 CX25 GSK25 o5 2250




Milling yStem

Finishing  Plane Processing End processing

_ OSKHX (4°) , ERKRBEEES,

@ Sk Collet (4 ° ), higher repeat clamping accuracy.

RISESIAH Model explanation

JEXaS - =K [19-
HEEEMRNRE

L RRIBEER

o
®
® G2.5 BH00ORPM~25000RPM
SK
HM
P02 / | L |
SR P05- P06 /
P02 7
P03- P04 T
P09 | [D c
ADS J*
‘ L1 L2 ‘

}?’\ ;

N N

- &N | @ |
301400 | BT30- TSKO06- 60 1.8~6.00 60 20 0.7 500
301402 SK06-100 | T1.8-6.00 100 20 |LMTSK06|  SKO06 CX06 | BSTSK0G| 4 500
301404 SK10- 60 T1.8-10.00 60 30 0.9 500

oz 301406 SK10-100 | TL.8-10.00 100 30 |LMTSK10|  SK10 CX10 | BSTSKI0| 4 4 500
301408 SK16- 60 2.75-16.00 60 40 1.0 500
301410 SK16-100 | 2.75-16.00 100 a0 |LMTSK16|  SK16 CX16 | BSTSK16 500
301412 | BT40- TSKO06- 60 1.8~6.00 60 20 11 600
301414 SK06-100 | T1.8-6.00 100 20 |LMTSKO6|  SKO06 CX06 | BSTSK06| , , 600
301416 SK10- 60 T1.8-10.00 60 30 11 600
301418 SK10-100 | T1.8-10.00 100 30 |LMTSK10|  SKi0 CX10 | BSTSKIO| 600
301420 SK16- 60 2.75-16.00 60 40 13 600
301422 SK16-100 | 2.75-16.00 100 a0 |MTSK16|  SKi6 CX16 | BSTSK16| g 600
301424 SK25- 80 B.00~25.00 80 55 16 700
301426 SK25-120 | 'B.00-25.00 120 55 |LMTSK25|  SK25 CXx25 | BSTSK25| 4 700
301428 | BT50- TSK10- 100 1.8-10.00 100 30 42 900
301430 SK10-150 | T1.8-10.00 150 30 |LMTSK10|  SK10 CX10 | BSTSK10| , , 1000
301432 SK16-100 | .75-16.00 100 40 45 900
301434 SK16-150 | .75-16.00 150 a0 |LMTSK16|  SKi6 CX16 | BSTSK16 , 1000
301436 SK25-120 | B.00-25.00 120 55 48 1000
301438 SK25-200 | B.00-25.00 200 55 |LMTSK25|  SK25 CX25 | BSTSK25| 4 1200

I cos



=

Order oN

P02
P05- P06
P02

BEEE

Chucking Dia

RUESHEA Model explanation

| c20 |-[Gsk]|10]{150

* EEEEEBNREE

RRIBEERL
Pl
WLEZN

?_1 t1

i

X
I | | I g
\M”_“i

11
L

%

Collet
3

R EN R
COLLET PULLER

mF

spanner

301500 C20- GSK6- 100 00 %
~6. . GSK6
301502 GSK6- 150 2-60 150 | 56 195 | osKke | w6 e 550
301504 GSK10- 100 100 40 500
3~10 . X GSK10
301506 GSK10- 150 150 | eo | o | @S0 ] sko cexo 550
301508 C25- GSK10- 100 100 30 550
- . cx GSK10
301510 GSK10- 50 510 150 | 60 196 | esko g skio ° 600
301512 GSK16- £00 3~16 100 0 27.1 GSK16 | sKie cx16 GSK16 550
301514 GSK16- 150 150 75 ) 600
301516 C32- GSK10- 120 120 47 71 K1 exio skt 600
301518 GSK10- 150 8-10 150 75 : GSK10 ° ° 650
301520 GSK16- 120 120 58 700
301522 GSK16- 150 3-16 150 88 40 askie | SK16 cxX16 GSK16 750
301524 GSK16- 180 180 118 850
301526 GSK25- 150 6.0~25.4 150 88 55 GSK25 SK25 CX25 GSK25 800
AUEEEEEA Model explanation
€20 || sK|[10]-150
o R T E R
BAEBREER
FEHA M IR
LN
d1
r t
r— N
/
I | | 2 a
had | I
L
P05- P06 L

Order oN

P02

BEEE

Chucking Dia

IGES
Collet
2

2 e 475 D 2%

COLLET PULLER

HhF

spanner

301600 €20- SKE- 100 2-6.0 18 SKé SK6 Cx6 TSK6 500
301602 SK6- 150- 120 56 550
301604 S (1LY 310 100 40 25 SK10 SK10 cX10 TSK10 500
301606 SK10- 150 120 60 550
301608 C25- SK10- 100 100 30 550
- 18 SK10 SK10 cX10 TSK10
301610 SK10- 150 8-10 130 60 600
301612 Il 100 3-~16 120 50 25 SK16 SK16 CX16 TSK16 550
301614 SK16- 150 150 75 600
301616 C32- SK10- 120 3-10 120 47 600
301618 SK10- 150 ~ 150 75 25 SK10 SK10 cX10 TSK10 650
301620 SK16- 120 120 58 700
301622 SK16- 150 3-16 150 88 40 SKi6 | SKi6 cx16 TSK16 750
301624 SK16- 180 180 118 850
301626 SK25- 150 6.0~25.4 150 88 55 SK25 SK25 CX25 TSK25 800

HM

SR

ADS

ER

0oz



Milling yStem

¢ kERE o
¢ }138450NM

CEHATHEMT

BUgE=HBE Model explanation

' BT40- HM | 20/-[90
R B R .
BAMEEE ¢ Beating accuracy .

S € Torque 450NM

SK
@ For precision machining
HM
SR
BLEIEES L mUA

P02
ADS PO05- P06

P02

P03- P04

P09

ER RFBMIE, HRERSRERRNERN

Take deep groove processing, please matching shrink its handle bar.

(oV4 ‘ L \ L1
\ L2
L3 I
" L \‘ p——
. & ?1 D2| D3 | D4 D3
. —1=1J |+ v
—_— L 1 1 ) D1|D2
|y |~= temin J) 2
L2max
S R A

301700 BT30- HM6- 70 6 25 | 28 70 o8 — M5X0.8 3450
301702 -HM8- 70 8 27 | 30 70 87.5 | 218 - M6X1.0 3450
301704 -HM10- 75 10 | 29 | 32 45 75 425 | 325 1 38 — M8x1.0 3450
301706 -HM12- 75 12 | 31 | 34 75 47.5 | 375 34 OHM12 M8x1.0 3450
301708 -HM16- 90 16 | 35 | 38 90 so5 | 425 5 — M10x1.0 3450
301710 -HM20- 90 20 | 40 | 43 90 OHM20 3450
301712 BT40- HM6- 90 6 | 25 | 28 90 44.5 — M5X0.8 | T4 FIG1 3625
301714 -HM8- 90 8 27 | 30 90 87.5 | 275 44.5 - M6X1.0 3625
301716 - HM 10- 90 10 | 29 | 32 90 425 | 325 44.5 —— M8x1.0 3625
301718 -HM12- 90 12 | 31 | 34 50 90 475 | 375 44.5 OHM12 3625
301720 "HM16-90 | 16 | 35 | a8 90 cos | ans 0 s _ M10x1.0 3625
301722 -HM20- 90 20 | 40 | 43 90 ' ’ 47.5 OHM20 3625
301724 -HM25-100 | 25 | 53 | 57 100 61.0 51 73 - wiexio | 15 FlG2 3625
301726 -HM32-105 | 32 | 60 | 63 105 65.0 55 78 OHM32 ’ 3860
301728 BT50- HM12- 90 12 | 31 | 34 90 475 | 375 32 OHM12 M8x1.0 T4 e 4450
301730 -HM20- 90 20 | 40 | 43 50 90 52.5 | 425 | 10 32 OHM20 M10x1.0 4450
301732 -HM32-115 | 32 | 60 | 63 — 115 65.0 55 77 OHM32 M16x1.0 | T5 FIG2 4560

Jcos



sfo| &
L
f
SK
P02
P0O5- P06 HM
P02
P03- P04
P09
SR
¢ ADS
301800 | BT30- SR06- 80 6 16 21 80
301802 | BT30- SR06- 130 6 16 21 130
301804 | BT30- SR08- 80 8 18 23 50
301806 | BT30- SR08- 130 8 18 23 130
! 301808 | BT30- SR10- 80 10 22 27 80
301810 | BT30- SR10-130 10 22 27 130
301812 | BT30- SR12- 80 12 24 29 80 ER
301814 | BT30- SR12- 130 12 24 29 130
’ 301816 | BT30- SR16- 80 16 28 33 80
301818 | BT30- SR16-130 16 28 33 130
’ ' 301820 | BT40- SR06-90 6 16 21 90 0z
(0.005MmMm). 301822 | BT40- SR06- 130 6 16 21 130
’ 301824 | BT40- SR08-90 8 18 23 90
301826 | BT40- SR08- 130 8 18 23 130
, , 301828 | BT40- SR10-90 10 22 27 90
301830 | BT40- SR10-130 10 22 27 130
301832 | BT40- SR12-90 12 24 29 90
301834 | BT40- SR12- 130 12 24 29 130
301836 | BT40- SR16- 90 16 28 33 90
301838 | BT40- SR16- 130 16 28 33 130
301840 | BT40- SR20-90 20 34 41 90
301842 | BT40- SR20- 130 20 34 41 130
301844 | BT40- SR25-90 25 44 51 90
301846 | BT40- SR25- 130 25 44 51 130
301848 | BT40- SR32-90 32 44 51 90
301850 | BT40- SR32-130 32 44 51 130
301852 | BT50- SR06- 105 6 16 21 105
301854 | BT50- SR06- 150 6 16 21 150
301856 | BT50- SR08- 105 8 18 23 105
301858 | BT50- SR08- 150 8 18 23 150
301860 | BT50- SR10- 105 10 22 27 105
301862 | BT50- SR10- 150 10 22 27 150
301864 | BT50- SR12- 105 12 24 29 105
301866 | BT50- SR12- 150 12 24 29 150
301868 | BT50- SR16- 105 16 28 33 105
301870 | BT50- SR16- 150 16 28 33 150
301872 | BT50- SR20- 105 20 34 41 105
301874 | BT50- SR20- 150 20 34 41 150
301876 | BT50- SR25- 105 25 44 51 105
301878 | BT50- SR25- 150 25 44 51 150
301880 | BT50- SR32- 105 32 44 51 105
301882 | BT50- SR32- 150 32 44 51 150

. C06



Milling yStem

o IR, REKET, FEETH

@ Side of the lock, to avoid dumping pull nails, o el
convenient and practical

—_— BRENHE BES u mIA B

AUESHAA Model explanation

8730 o8] [ 201

W ARG R
BABREEE
» FAMH
P02 TIRRAR L
PO5- P06 L1——
P02 _ _ Lo o
P03- P04 HEBE I
P O 9 #beating accuracy
SK
\\ i
301900 BT30- ADS06- 60 60 - 0.45 900
HM 301902 ADS06- 90 - 2.0-6.0 90 13 - ADS06 T4 6° 0.55 950
301904 ADS06- 120- 120 - 0.7 1000
301906 ADS10- 90 - 90 36 0.6 1000
301908 ADS10- 105- 3.0- 10.0 105 22 35 ADS10 T4 6° 0.7 1200
SR 301910 ADS12- 80 - 3.0- 12.0 80 30 35 ADS12 T4 6° 0.8 1000
301912 ADS20- 80 - 80 35 0.8 1100
301914 ~ADS20- 100 3.0- 20.0 100 - 50 ADS20 T6 6° 1.2 1300
301916 BT40- ADS06- 90 90 - 1.2 1200
301918 ADS06- 120- 2.0-6.0 120 13 - ADSO06 T4 6° 1.5 1400
301920 ADS06- 150- 150 - 1.9 1600
ADS 301922 -ADS08- 90 90 - 1.2 1200
301924 ~ADS08- 120 2.0- 8.0 120 13 ADS08 T4 6° 1.5 1400
301926 ADS10- 85 - 85 35 R 1.3 1200
301928 ADS10- 120- 3.0- 10.0 120 22 40 ADS10 T4 6 1.6 1400
301930 ~ADS12- 70 70 35 R 1.2 1200
301932 ADS12-90 - 3.0-12.0 90 30 20 ADS12 T4 6 1.6 1300
301934 ADS12- 120- 120 50 1.9 1400
301936 - ADS16- 95 95 35 . 1.7 1250
301938 ~ADS16- 125 3.0- 16.0 125 - 40 ADS16 T5 6 2.0 1500
301940 - ADS20- 80 80 35 o 1.9 1300
ER 301942 ~ADS20- 100 3.0- 20.0 100 - 40 ADS20 T6 6 2.2 1600
301944 BT50- ADS08- 95 95 - - 4.1 2200
301946 ~ADS08- 110 2.0- 8.0 110 13 - ADS08 T4 4.5 2700
301948 -ADS10- 105 105 35 = 2.1 2200
(oy4 301950 ADS10- 135- 3.0- 10.0 135 22 40 ADS10 T4 4.4 2700
301052 ADS10- 165- 165 50 4.8 2900
301954 ADS12- 105- 105 35 & 4.2 2200
301956 ADS12- 135 3.0-12.0 135 30 40 ADS12 T4 4.5 2700
301058 ADS12- 165 165 50 4.9 2900
301960 ~ADS16- 100 100 35 o 4.3 2200
301962 ~ADS16- 125 3.0- 16.0 125 - 40 ADS16 T5 4.6 2700
301964 ~ADS20- 80 80 35 6 25 2200
301966 ~ADS20- 100 3.0- 20.0 100 - 40 ADS20 T6 4.9 2700
P02
, PO5- P06
I” ! P02
D | -HE e e LEFEES Jid D1
i ——
‘ L1
l L
\\\ -
302100 | CO08- CS04- 100 2-4 100 36 8 8.0 6° CS04 T4 2100
302102 | C10- CE04- 100 2-4 100 36 10 10.0 2200
302104 50 2-4 150 36 10 10.0 o 2500
302106 505 2-4 | 150 36 10 8.2 6 CE04 T4 2500
302108 | Cl2- CEO4- 150S 2-4 150 36 12 9.7 3000
302110 | C12- ADS06- 100 2-6 100 36 12 12.0 2600
302112 50 2-6 150 36 |1 12 12.0 2800
302114 50L 2-6 150 36 |1 12 12.0 2800
302116 C16- ADS06- 150S 2-6 150 50 16 12.4 6° ADSO06 T4 4000
302118 50L 2-6 150 50 |1 16 12.4 4000
302120 00S | 2-6 200 50 |2 16 12.4 4600
302122 00L 2-6 200 50 |2 16 12.4 4600
302124 | C20- ADS10- 150 3-10 | 150 50 20 20.0 . 5600
302126 00 |3-10| 200 50 |2 20 20.0 6 ADS10 T4 6600

Jco7



_ EE o X
L L
P02
PO5- P06 °
P02 °
P03- P04
P09 L HSK
SK
302200 | HSK50A- ADS06- 105 105 50 23 30 1 2050
302202 | HSK50A- ADS06- 120 120 50 23 30 1 2080
302204 | HSK50A- ADS12- 120 120 50 : 34 2 2110 HM
302206 | HSK50A- ADS12- 120 130 50 : 34 2 2150
302208 | HSK50A- ADS20- 130 130 50 ; 22 2 2180
302210 | HSK50A- ADS20- 150 150 50 ; 42 2 2210 SR
302212 | HSK63A- ADS06- 110 110 63 23 30 1 2050
302214 | HSK63A- ADS06- 120 120 63 23 30 1 2080
302216 | HSK63A- ADS12- 120 120 63 - 22 2 2110
302218 | HSK63A- ADS12- 150 150 63 } 42 2 2150
302220 | HSK63A- ADS20- 130 130 63 } 42 2 2180 ADS
302222 | HSK63A- ADS20- 140 140 63 } 22 2 2210
D
» »
— |t ER
o |48 ;
(oV4
P02
°
P05- P06 o
P02
P03- P04
P09
302300 | SK30- ADS06- 70 70 50 23 30 1 1860
302302 | SK30- ADS06- 100 100 50 23 30 1 2050
302304 | SK30- ADS12- 80 80 50 - 34 2 1760
302306 | SK30- ADS12- 100 100 50 - 34 2 1910
302308 | SK30- ADS20- 80 80 50 - 42 2 1780
302310 | SK30- ADS20- 100 100 50 - 22 2 1930
302312 | SK40- ADS06- 70 70 63.55 23 30 1 2060
302314 | SK40- ADS06- 100 100 63.55 23 30 1 2260
302316 | SKA40- ADS12- 80 80 63.55 - 34 2 1950
302318 | SK40- ADS12- 100 100 63.55 - 34 2 2110
302320 | SK40- ADS20- 80 80 63.55 - 42 2 1980
302322 | SK40- ADS20- 100 100 63.55 - 42 2 2150
302324 | SK50- ADS06- 70 70 975 23 30 1 3810
302326 | SK50- ADS06- 100 100 97.5 23 30 1 4210
302328 | SK50- ADS12- 70 70 975 } 34 2 3660
302330 | SK50- ADS12- 100 100 975 ; 34 2 4030
302332 | SK50- ADS20- 80 80 97.5 - 42 2 3710
302334 | SK50- ADS20- 100 100 97.5 } 42 2 4100

@cos



Milling yStem

\
\J

(7 [—— =)

Finishing Roughing _ Plane Processing  Endprocessing  Siootplungemiling _ Heavy cutling.

[ X J
—
o
-

dl
d2

G6.3 ®00RPM

sK 302400 BT30- C20- 80 128.4 80 20 20 55 M12x1.75 1200
302402 BT40- C20- 80 145.4 80 25 32 68.5 1200

302404 BT40- C20- 100 165.4 100 25 32 68.5 1200

HM 302406 BT40- C20- 135 200.4 135 25 32 68.5 1500
302408 BT40- C20- 80 145.4 80 25 32 68.5 M16x2.0 1200

302410 BT40- C25- 100 165.4 100 25 32 68.5 1200

SR 302412 BT40- C32- 90 155.4 90 25 32 68.5 1200
302414 BT40- C32- 105 170.4 105 25 32 68.5 1200

302416 BT40- C32- 135 200.4 135 25 32 68.5 1500

ADS 302418 BT50- C32- 110 211.8 110 35 32 68.5 1875
302420 BT50- C32- 135 236.8 135 35 32 68.5 2175

302422 BT50- C32- 165 266.8 165 35 32 68.5 M24x3.0 2625

302424 BT50- C32- 200 301.8 200 35 32 68.5 3750

302426 BT50- C42- 110 211.8 110 35 42 92 2250

R IR AE
ER M AT

Finishing Roughing _ Plane Processing  Endprocessing  Siootplungemiling _Heavy cutling.

RIGESAY Model explanation

oz [BT40l-[ C | @— 7 —
,L GRETRGGRE T
BABREE
TR e
EI
P02 [ ] // :
P05- P06 0.015mm /‘ 12 ‘ | :
1
P02 ® } T
P03- P04
P09

302500 DAT30- C20- 80 127.8 80 19.1 20 55 M12x1.75 3188
302502 DATA40- C20- 80 148.4 80 19.1 32 68.5 3269
302504 DAT40- C20- 100 168.4 100 19.1 32 68.5
302506 DAT40- C20- 135 203.4 135 19.1 32 68.5
302508 DATA40- C25- 80 148.4 80 19.1 32 68.5 M16x2.0 3269
302510 DAT40- C25- 100 168.4 100 19.1 32 68.5 ’
302512 DATA40- C32- 90 158.4 90 19.1 32 68.5
302514 DAT40- C32- 105 173.4 105 19.1 32 68.5 3556
302516 DAT40- C32- 135 203.4 135 19.1 32 68.5 4806
302518 DATS50- C32- 110 211.75 110 19.1 32 68.5
302520 DATS50- C32- 135 236.75 135 19.1 32 68.5
302522 DAT50- C32- 165 266.75 165 19.1 32 68.5 M24x3.0
302524 DAT50- C32- 200 301.75 200 19.1 32 68.5
302526 DATS50- C42- 110 211.75 110 19.1 42 92 5238

I coo



i,

Plane Processin G Endprocessin 9 Solpngemiling Heavy cutting

SK
P02
PO5- P06
P02 HM
PO3- P04
P09
SR
° ADS
°
°
® G6.3 ®00RPM
°
ER
dl NE ML IBMETER ole2| 16| 10825| 2| 2 4 MLT20 0 0z
MLT32 0
L NE MLLENGTH 0| 20| 40| ®|50|50|60 6 MLT40 00
F @NCENTRICITY 02 F  ONCENTRICITY | 0.001-0.00G
302600 BT30- MLT20- 75 123.4 75 1.8kg 2244
302602 BT30- MLT20- 90 138.4 90 20 55 2.0kg 2294
302604 BT40- MLT20- 80 145.4 80 2.3kg 2769
302606 BT40- MLT20- 100 165.4 100 20 55 2.5kg 2844
302608 BT40- MLT20- 135 200.4 135 2.7kg 3056
302610 BT40- MLT32- 90 155.4 90 2.7kg 3050
302612 BT40- MLT32- 105 170.4 105 32 73 3.0kg 3131
302614 BT40- MLT32- 135 200.4 135 3.0kg 3338
302616 BT50- MLT20- 105 206.4 105 4.5kg 4038
302618 BT50- MLT20- 150 251.8 150 20 55 4.9kg 4556
302620 BT50- MLT32- 110 211.8 110 5.2kg 4331
302622 | BT50- MLT32- 135 236.8 135 32 73 5.9kg 4594
302624 BT50- MLT32- 165 266.8 165 6.6kg 4956
302626 BT50- MLT42-110 211.8 110 6.0kg 4756
302628 BT50- MLT42- 130 231.8 130 42 95 6.5kg 5000
302630 BT50- MLT42- 165 266.8 165 7.4kg 5425

@cio0



Milling yStem

IR
HiT
Fougning B ing

Finishing Plane Processing Processing  Siootplungemiling  Heavy cull

SK
P02
HM PO5- P06
P02
PO3- P04
P09
SR
ADS
-~ N
© kel
. L
° I
o 7
Y i / 12 ‘
G6.3 ®00RPM —
ER ©® L
oz
dl NIE ML IBMETER ol62| 16| 10825 | 2| 2 4 MLT20 0
L MLT32 0
L NIE MLLENGTH 5| 0| 20| 30|40|4|50|50|60 6 MLT40 00
F @NCENTRICITY 02 F  ONCENTRICITY | 0.001~0.005
302700 DAT30- MLT20- 85 132.8 85 1.9kg 2150
302702 DAT30- MLT20- 100 147.8 100 2.1kg 2188
302704 DAT40- MLT20- 85 153.4 85 20 55 2.4kg 2413
302706 DAT40- MLT20- 100 168.4 100 2.5kg 2519
302708 DAT40- MLT20- 135 203.4 135 2.8kg 2663
302710 DAT40- MLT32- 105 173.4 105 32 73 2.7kg 2806
302712 DAT40- MLT32- 135 203.4 135 3.0kg 2919
302714 DAT50- MLT20- 105 206.75 105 20 55 4.5kg 3069
302716 DAT50- MLT20- 150 251.75 150 4.9kg 3369
302718 DAT50- MLT32- 105 206.75 105 32 73 5.1kg 3294
302720 DAT50- MLT32- 135 236.75 135 5.9kg 3331
302722 | DAT50- MLT40- 110 211.75 110 42 95 6.0kg 3788

JC11



BT
Finishing

H. DAMT.

=

ng  Stotpungemiing Heavy cutling

P02 A L4 Jd.
PO5- P06 R .: o
P02 i
P03- P04 Q 1S
P09 o —
‘ l1
SK
) L
[ ]
°
°
: dl NCE ML IBMETER ol6 2| 16| 10825 | 2| 2 4 MLT20 0 HM
o G6.3 800RPM L NIE MLLENGTH 5| 0/30|30(40|4D|50|50|60 6 - mt:ig 000
F @NCENTRICITY .02 F OMNCENTRICITY .001~0.00%
SR
302800 HSK50A- MLT20- 120 140 120 1.62kg 2388
302802 HSK63A- MLT20- 90 122 90 20 55 1.52kg 2556 ADS
302804 HSK63A- MLT20- 120 152 120 1.68kg 2663
302806 HSK63A- MLT32- 105 137 105 1.60kg 2838
302808 HSK63A- MLT32- 120 152 120 32 73 1.76kg 2931
302810 HSK63A- MLT32- 150 182 150 1.92kg 3025
302812 HSK63A- MLT42- 135 167 135 42 95 1.82kg 4919
ER
oz
P02
PO5- P06
4
P03- P04 E>
P09 & °
°
y mm
302900 NT30- MLC20-62.5 |130.9 | 65 49 M12(M12*1.75P),A04(1/2"- 12)| 1.9kg 1781
302902 NT40- MLC20-62.5 |155.9 | 70 63 20 55 M16(M16*2.0P),A06(5/8"- 11) | 2.3kg 2031
302904 R8- MLC20- 62.5 163.5 | 85 55 7/16"- 20 1.9kg 1806
302906 MTB4- MLC32- 90 192.5 | 90 73 M16(M16*2.0P),A06(5/8"- 11) | 2.1kg 2381
302908 MTB5- MLC32- 85 2145 | 90 73 M24(M24*3.0P),A07(1"- 8) 3.8kg 2506
302910 NT40- MLC32- 79.6 173 90 63 32 73 M16(M16*2.0P),A06(5/8"- 11) | 2.6kg 2300
302912 NT50- MLC32- 87.2 214 90 97.5 M24(M24*3.0P),A07(1"- 8) 4.9kg 3413
302914 MTB4- MLC42- 95 197.5 | 110 95 M16(M16*2.0P),A06(5/8"- 11) | 2.8kg 3481
302916 MTB5- MLC42- 95 2245 | 110 95 4.0kg 3888
42 95 | M24(M24*3.0P),A07(1"- 8)
302918 NT50- MLC42- 86.2 213 | 110 | 97.5 5.8kg 3925

¢@ci12



Milling yStem

N
a o
P02
P05- P06
P02
SK P03- P04
P09
HM
303100 NT30- MCST20- 80 20 52 80 ST20 M12(M12*1.75P) 1.5kg 2988
SR 303102 NT30- MCST25- 85 25 58 85 ST25 A04(1/2"-12) 1.5kg 2988
303104 NT40- MCST20- 80 52 80 ST20 2.0k 3031
20 M16(M16%2.0P) g
303106 NT40- MCST25- 85 25 58 85 ST25 2.0kg 3031
A06(5/8"- 11)
ADS 303108 NT40- MCST32- 95 32 75 95 ST32 2.6kg 3219
303110 NT50- MCST32- 100 32 75 100 ST32 M24(M24*3.0P) 4.5kg 3869
303112 NT50- MCST42- 110 42 87 110 ST42 A07(1"- 8) 5.5kg 4694
ER .
e
0oz
/ _—
“\ a o
7
P02 f
P05- P06
P02
P03- P04
P09
303200 BT30- MCST20- 85 20 52 85 ST20 1.5kg 3056
303202 BT40- MCST20- 80 20 52 80 ST20 2.0kg 3069
303204 BT40- MCST20- 120 20 52 120 ST20 2.8kg 3288
303206 BT40- MCST25- 90 25 58 90 ST25 2.2kg 3069
303208 BT40- MCST25- 135 25 58 135 ST32 2.9kg 3288
303210 BT40- MCST32- 105 32 75 105 ST32 3.0kg 3294
303212 BT40- MCST32- 150 32 75 150 ST32 3.5kg 3706
303214 BT50- MCST32- 110 32 75 110 ST32 5.2kg 4150
303216 BT50- MCST32- 150 32 75 150 ST32 7.0kg 4600
303218 BT50- MCST42- 115 42 87 115 ST42 7.0kg 5000
303220 BT50- MCST42- 150 42 87 150 ST42 8.5kg 5238

Jcis



AN
$§

P02 A 5
P05- P06
P02 ve
P03- P04 %‘
P09 ‘
SK
303300 DAT30- MCST20- 95 20 52 20 ST20 1.5kg 3188
303302 DAT40- MCST20- 80 20 52 80 ST20 2.0kg 3269
303304 DAT40- MCST25- 90 25 58 20 ST25 2.0kg 3269 HM
303306 DAT40- MCST32- 100 32 75 100 ST32 2.7kg 3556
303308 DAT50- MCST32- 105 32 75 105 ST32 4.5kg 4806
303310 DAT50- MCST42- 110 42 87 110 ST42 5.7kg 5238 SR
ADS
P02 :
P05- P06 4 !
P02
P03- P04 T
ST20 PCS 6 4 8 @ 2 5 P09 @@@@@@g
ST25 PCS 7 4 8 A 2 B 20 ..M_ —
ST32 PCS 7 6 8 A 2 B 20 25 L [ Il — ER
ST42 PCS 8 6 8 A 2 B 20 25 32 ; o
= s 0z
Order oN Model N.W. Price
303400 NT30- MCST20- 80- 6PCS ST20 PCS 6 M12(M12*1.75P) 4.0kg 4188
303402 NT30- MCST25- 85- 7PCS ST25 PCS 7 A04(1/2"- 12) 4.0kg 4388
303404 NT40- MCST20- 80- 6PCS ST20 PCS 6 4.5kg 4269
303406 NTA40- MCST25- 85- 7PCS ST25 PCS 7 M16(M16*2.0P) 4.5kg 4469
303408 NT40- MCST32- 95- 7PCS ST32 PCS 7 A06(5/8™-11) 7.0kg 5069
303410 NT50- MCST32- 100- 7PCS ST32 PCS 7 M24(M24*3.0P) 9.0kg 5719
303412 NT50- MCST42- 110- 8PCS ST42 PCS 8 A07(1"- 8) 12.0kg 8075
303414 BT30- MCST20- 85- 6PCS ST20 PCS 6 4.0kg 4256
303416 BT40- MCST20- 80- 6PCS ST20 PCS 6 4.5kg 4269
303418 BT40- MCST20- 120- 6PCS ST20 PCS 6 5.0kg 4481
303420 BT40- MCST25- 90- 7PCS ST25 PCS 7 4.7kg 4475
303422 BT40- MCST25- 135- 7PCS ST25 PCS 7 5.2kg 4688
303424 BT40- MCST32- 105- 7PCS ST32 PCS 7 7.0kg 5131
303426 BT50- MCST32- 110- 7PCS ST32 PCS 7 9.5kg 5869
303428 BT50- MCST42- 115- 8PCS ST42 PCS 8 13.0kg 8369
303430 DAT30- MCST20- 95- 6PCS ST20 PCS 6 4.0kg 4388
303432 DAT40- MCST20- 80- 6PCS ST20 PCS 6 4.5kg 4469
303434 DAT40- MCST25- 90- 7PCS ST25 PCS 7 4.8kg 4681
303436 DAT40- MCST32- 100- 7PCS ST32 PCS 7 7.2kg 5344
303438 DAT50- MCST32- 105- 7PCS ST32 PCS 7 9.1kg 6056
303440 DAT50- MCST42- 110- 8PCS ST42 PCS 8 12.0kg 8544

@ci14



Milling yStem

¢ JER-OC2FHERIE
SIZEK. B/

oo

Plane Processing  End processing

HUNL
Roughing

Hi AT

O EMETEEEHTIF® ¢ High-speed carving and milling machine

for tool holder
@ Non-eccentric full balanced round nut.
@ low noise, little wind resistance.

303500 BT30- GER16- 70 0.5-10.0 27.5 70 600
303502 BT30- GER20- 70 1.0-13.0 30 70 600
303504 BT30- GER25- 70 1.0-16.0 40 70 600
SK P03- P04 303506 BT30- GER16- 100 0.5-10.0 275 | 100 600
P09 303508 BT30- GER20- 100 1.0-13.0 30 100 600
‘ L 303510 BT30- GER25- 100 1.0-16.0 40 100 600
‘ ,-% 303512 BT40- GER16- 70 0.5-10.0 | 275 | 70 700
HM 303514 BT40- GER20- 70 1.0-13.0 30 70 700
Jﬁmd 5 303516 BT40- GER25- 70 1.0-16.0 40 70 700
L H T 303518 BT40- GER16- 100 0.5-10.0 275 | 100 700
SR 303520 BT40- GER20- 100 1.0-13.0 30 100 700
303522 BT40- GER25- 100 1.0- 16.0 40 100 700
ER Y
o
oz °
G2.5 B000RPM
G2.5 4HO000RPM
P09
| L
‘ L1
303600 ISO25- GER16 2~10 27.5 42 1000
h—%ﬁx Jﬁq}d o 303602 ISO25- GER20 2-13 30 42 1000
\ H 303604 ISO30- GER16 2~10 27.5 55 700
303606 IS030- GER20 2~13 30 55 700
303700 BSGER16 27.5 400
303702 BSGER20 30 400
303704 BSGER25 40 400
303800 ER11 2,2.25,2.5,2.75,3,3.5,4,4.5,5,5.5,6 11.5 18.5 100
303802 ER16 2,2.25,2.5,2.75,3,3.5,4,4.5,5,5.5,6,6.5,7,7.5,8,8.5,9,9.5,10 17 27 100
2,2.25,2.5,2.75,3,3.5,4,4.5,5,5.5,6,6.5,7,7.5,8,8.5,9,9.5,10 100
303804 ER20 10.5,11,11.5,12,12.5,13,13.5,14,14.5,15,15.5,16 21 31

Jcis



i | 1

R . AT
A e b Ee Se
o
® ER16 R20
([
: G6.3 DOOORPM
303900 | BT30-ER16A-50 | 98.4 | 28| 16| 28 0.45kg| 400
303902 | BT30-ER16A-70 | 118.4| 28 | 16 | 28 0.55kg| 400
303904 | BT30- ER16A-60 | 108.4| 28 | 16 | 28 | M10x1.5P [0.5-10.0 [0.66kg| 400
303906 | BT30- ER16A-100 | 148.4| 28 | 16 | 28 0.80kg| 400 SK
P02 303908 | BT30- ER16A-120 | 168.4| 28 | 16 | 28 0.95kg| 500
PO5- PO6 303910 | BT30-ER20A-50 | 98.4 | 34 | 20 | 34 0.48kg| 400
P02 303912 | BT30-ER20A-70 | 118.4| 34 | 20 | 34 |M12x1.75P|1.0-13.0 [0.75kg| 400
. 303914 | BT30- ER20A-135 | 183.4| 34 | 20 | 34 1.15kg| 400
. 303916 | BT30-ER25-70 | 118.4| 42 | 25 | 42 1o.160 |070ke] 400 HM
303918 | BT30-ER25-135 |183.4| 42 | 25 | 42 1.45kg| 500
303920 | BT30-ER32-70  [118.4] 50| s2 | 45 [misx2op| - lo8skg| 400
303922 | BT30- ER32-100 |148.4| 50 | 32 | 45 1.00kg| 400
303924 | BT30-ER40-80 | 128.4| 63 | 40 | 53 3.0-26.0 | 1.10kg| 500 SR
303926 | BT40- ERL6A-70 | 135.4 1.20kg| 400
303928 | BT40- ER16A- 100 | 165.4 1.30kg| 400
303930 | BT40- ER16A-125 | 190.4| 28 | 16 | 28 | M10x1.5P [0.5-10.0 |1.36kg| 450
303932 | BT40- ER16A- 150 | 215.4 1.54kg| 500
303934 | BT40- ER16A- 180 | 245.4 2.00kg| 550 ADS
303936 | BT40- ER20A-70 | 135.4 1.40kg| 400
303938 | BT40-ER20A-200 | 165.4]  f f Lo ool o s [LSOka] 400
303940 | BT40- ER20A- 135 | 200.4 1.70kg| 450
303942 | BT40- ER20A- 150 | 215.4 1.80kg| 500
303944 | BT40-ER25-70 | 135.4 1.30kg| 400
303946 | BT40- ER25- 100 | 165.4 150kg| 400
303948 | BT40- ER25- 125 190.4 42| 25 42 1.0-16.0 1.90kg 450
303950 | BT40- ER25-150 | 215.4 M16x2.0P 2.25kg| 500
303952 | BT40- ER32- 70 135.4 1.30kg 400 ER
303954 | BT40-ER32-100 | 1654 | 50 | 32 | 45 2.0-20.0 [1.70kg| 400
303956 | BT40- ER32-150 | 215.4 2.05kg| 500
303958 | BT40- ER40-80 | 145.4 150kg| 500
303960 | BT40- ER40-100 | 165.4 2.06kg| 500 0oz
303962 | BT40-ER40-120 | 1854| 0| 40| 5% | m20x2.0p [3:0-26.0 [ 550
303964 | BT40- ER40-150 | 215.4 3.10kg| 600
303966 | BT40- ER50-85 | 150.4 1.70kg| 700
So3065 | BTa0 ERB0 100 [ 1esa] 0| | 60 |M24x20P [s0-300 Fom—
303970 | BT50- ERL6A-70 | 171.8 2.05kg| 700
303972 | BTS50- ER16A-90 | 191.8 4.20kg| 700
303974 | BT50- ER16A- 105 | 206.8 4.30kg| 700
303976 | BT50- ERI6A- 135 | 2368 | 28 | 16 | 28 |M10x1.5P |05-10.0 70 T
303978 | BT50- ER16A- 150 | 251.8 4.50kg | 850
303980 | BT50- ER16A- 165 | 266.8 4.50kg [ 900
303982 | BT50- ER20A-70 | 171.8 4.20kg| 700
303984 | BT50- ER20A-90 | 191.8 4.25kg| 700
303986 | BT50- ER20A- 105 | 206.8 4.30kg|[ 700
303988 | BT50- ER20A-135 | »36.8| 34 | 20 | 34 1.0-13.0 | 4 55kg 800
L 303990 | BT50- ER20A- 150 | 2518 4.70kg| 850
\ L1 303992 | BT50- ER20A- 165 | 266.8 M12x1.75P 4.80kg| 900
T | 303994 | BT50- ER20A-200 | 301.8 4.90kg | 1000
—\ /-L 303996 | BT50-ER25-70 | 1718 4.20kg| 700
303998 | BT50- ER25-105 | 206.8 4.40kg| 700
%7 304000 | BT50- ER25-135 | 23p5| 22| 25| 42 1.0-16.0 " 20kg | 800
‘ ‘ [ 1 1 1d 2| d1 304002 | BT50- ER25-165 | 266.8 500kg| 850
‘ éﬁ - 304004 | BT50-ER32-80 | 1318 4.70kg| 700
304006 | BT50- ER32-100 | 2018 4.80kg| 700
\ d3 304008 | BTS0-ER32-120 |221.8| 50| 40 | 50 [M16x2.0P [2.0-20.0 |4.90kg| 800
304010 | BT50-ER32-150 | 2518 5.30kg| 800
304012 | BT50-ER32-200 | 3018 5.50kg| 1000
304014 | BT50-ER40-80 | 1818 4.30kg| 800
304016 | BT8O ER40-100 120181 o3| 49 | 63 | M20x2.0P |3.0-26.0 [440ka| 800
304018 | BT50- ER40-120 | 221 g 520kg| 900
304020 | BT50- ER40-135 | 2368 550kg| 1000
304022 | BT50-ER50-90 | 1018 4.60kg | 1000
304024 | BT50-ERS50-120 | 2218| 78| 50 [ 78 |M24x2.0P |5.0-34.0 |5.50kg| 1100
304026 | BT50-ER50-165 | 266.8 6.10kg| 1200

@C1s6



Milling

— I
i m Wk

. M Finishing Roughing _ Plane Processing  End processing  Siootplunge miling

G6.3 DOOORPM

L

| L1
\
P02

-
— Al
SK PO5- P06 ‘ | ﬁﬁz J
P02 1
P03- P04 \\JL H Q%Ji
oy P09 A\ 43

SR 304100 BT30- ER11M- 70 118.4 0.50kg 500
304102 BT30- ER11M- 100 148.4 6.6 16 11 15 M6Xx1.0P 0.5~7.0 0.60kg 535
304104 BT30- ER11M- 120 168.4 0.70kg 580
ADS 304106 BT30- ER16M- 70 118.4 0.55kg 500
304108 BT30- ER16M- 100 148.4 |10.6 | 22 16 | 21 | M10x1.5P | 0.5~10.0 0.65kg 535
304110 BT30- ER16M- 120 168.4 0.75kg 600
304112 BT30- ER20M- 70 118.4 0.65kg 505
304114 BT30- ER20M- 100 148.4 0.70kg 540
304116 BT30- ER20M- 120 168.4 115 28 20 | 27 | M12x1.75P) 1.0-13.0 0.80kg 615
ER 304118 BT30- ER20M- 150 198.4 1.00kg 700
304120 BT40- ER11M- 70 135.4 1.10kg 545
304122 BT40- ER11M- 100 165.4 1.20kg 585
0z 304124 BT40-ERLIM-125 | 1904 | &€ | 16| 11 | 15 | M6x1.0P | 0.5-7.0 1.40kg 880
304126 BT40- ER11M- 150 215.4 1.50kg 960
304128 BT40- ER16M- 70 135.4 1.20kg 550
304130 BT40- ER16M- 100 165.4 1.30kg 585
304132 BT40- ER16M- 125 190.4 106 22 16 21 | M10x1.5P | 0.5-10.0 1.50kg 900
304134 BT40- ER16M- 150 215.4 1.60kg 995
304136 BT40- ER20M- 70 135.4 1.20kg 550
304138 BT40- ER20M- 100 165.4 1.55kg 590
304140 BT40- ER20M- 125 190.4 11.5 28 20 | 27 | M12x1.75P| 1.0~13.0 1.70kg 930
304142 BT40- ER20M- 150 215.4 1.80kg 1,030
304144 BT50- ER11M- 70 171.8 3.80kg 1,585
304146 BT50- ER11M- 90 191.8 3.90kg 1,635
304148 BT50- ER11M- 105 206.8 | 6.6 | 16 | 11 | 15 | M6x1.0P | 0.5~7.0 4.00kg 1,705
304150 BT50- ER11M- 135 236.8 4.10kg 1,560
304152 BT50- ER11M- 165 266.8 4.20kg 1,615
304154 BT50- ER16M- 70 171.8 3.90kg 1,580
304156 BT50- ER16M- 90 191.8 4.00kg 1,645
304158 BT50- ER16M- 105 206.8 | 10.6 22 16 21 M10x1.5P | 0.5~10.0 4.10kg 1,735
304160 BT50- ER16M- 135 236.8 4.20kg 1,590
304162 BT50- ER16M- 165 266.8 4.30kg 1,635
304164 BT50- ER20M- 90 191.8 4.10kg 1,655
304166 BT50- ER20M- 105 206.8 4.20kg 1,750
304168 BT50- ER20M- 135 236.8 115 28 20 | 27 | M12x1.75P| 1.0~13.0 4.40kg 1,605
304170 BT50- ER20M- 165 266.8 4.60kg 1,655

JC17



P02
P05- P06
P02 SK
P03- P04 TmF
P09 bt :
HM
SR
304200 BT30- ER16- 60- 10PCS 1- 10 ER16 10PCS 1.90kg
304202 BT30- ER16- 100- 10PCS 1- 10 ER16 10PCS 2.00kg
304204 BT30- ER20- 60- 12PCS 2-13 ER20 12PCS 2.50kg
304206 BT30- ER20- 100- 12PCS 2-13 ER20 12PCS 2.60kg ADS
304208 BT30- ER25- 60- 15PCS 2-16 ER25 15PCS 2.50kg
304210 BT30- ER25- 60- 7PCS 4-16 ER25 7PCS 2.80kg
304212 BT30- ER32- 60- 18PCS 3-20 ER32 18PCS 4.40kg
304214 BT30- ER32- 60- 11PCS 4-20 ER32 11PCS 3.80kg
304216 BT30- ER32- 60- 6PCS 6- 20 ER32 6PCS 3.40kg
304218 BT40- ER16- 70- 10PCS 1-10 ER16 10PCS 2.30kg
304220 BT40- ER16- 100- 10PCS 1- 10 ER16 10PCS 2.70kg ER
304222 BT40- ER20- 70- 12PCS 2-13 ER20 12PCS 2.80kg
304224 BT40- ER20- 100- 12PCS 2-13 ER20 12PCS 3.00kg
304226 BT40- ER25- 70- 15PCS 2-16 ER25 15PCS 3.20kg oz
304228 BT40- ER25- 70- 7PCS 4-16 ER25 7PCS 3.00kg
304230 BT40- ER32- 70- 18PCS 3-20 ER32 18PCS 5.20kg
304232 BT40- ER32- 70- 11PCS 4-20 ER32 11PCS 4.20kg
304234 BT40- ER32- 70- 6PCS 6- 20 ER32 6PCS 3.80kg
304236 BT40- ER40- 80- 23PCS 4-26 ER40 23PCS 8.90kg
304238 BT40- ER40- 80- 15PCS 4-26 ER40 15PCS 7.60kg
304240 BT40- ER40- 80- 7PCS 6- 25 ER40 7PCS 4.50kg
304242 BT40- ER50- 90- 12PCS 12- 34 ER50 12PCS 9.00kg
304244 BT50- ER32- 100- 18PCS 3-20 ER32 18PCS 7.50kg
304246 BT50- ER40- 100- 23PCS 4-26 ER40 23PCS 11.3kg
304248 BT50- ER40- 100- 15PCS 4-26 ER40 15PCS 10.0kg
304250 BT50- ER50- 100- 12PCS 12- 34 ER50 12PCS 12.0kg

@cis



HM

SR

ADS

ER

0oz

cio

Milling

P03- P04 B iz o
° ,
P09 ds
® ER16 R20
®ER25 R32 [R40 [R50 1
oM
° G6.3 DOOORPM o
Y )
° G6.3  DOOORPM
L L]
304600 | DAT30-ER11M-70 1178 050kg | 875
304602 | DAT30-ER11M-100 |147.8 | 16 | 11 | 15 [ mexiop | 05-7.0 0.60kg | 945
304604 | DAT30-ER11M-120 |167.8 0.70kg | 995
304606 | DAT30-ER16M-70  |117.8 0.55kg | 900
304608 | DAT30-ER16M-100 |147.8 | 22 | 16 | 21 [miox15P | o05-100 | 0.65kg | 975
304610 | DAT30-ER16M-120 |167.8 0.75kg | 1025
304612 | DAT30-ER20M-100 |147.8 0.70kg | 985
304614 | DAT30-ER20M-120 |167.8 | 28 [ 20 | 27 [mi2x1.75P| 1.0-13.0 | 0.80kg | 1040
304616 | DAT30-ER20M-150 |197.8 1.00kg | 1175
304618 | DAT40-ER1IM-70  |138.4 1.10kg | 1100
304620 | DAT40-ER11M-100 |168.4 1.20k 1190
16 [ 11 | 15 [ Mex1.0P [ 0.5-7.0 g
304622 | DAT40-ER1IM-125 |193.4 1.40kg | 1300
304300 DAT30- ERL1A- 80 127.8 19 11 M6x1.0P 0.5~7.0 | 0.60kg 605
01207 e Ta——— 08 e o 304624 | DAT40-ER1IM-150 |218.4 150kg | 1420
- - . 28 16 M10x1.5P | 0.5~10.0 9 304626 DAT40- ERL6M- 70 138.4 1.20kg 1160
304304 DAT30- ERL6A- 120 167.8 0.85kg 680 ~oi000 [ oatsoerion 100 Ticoe ook | 1250
; 5 110. 0.80k 22 | 16 | 21 [Miox1.5P | o.5-10. -
304306 DAISOZER20A363, = : 34 20 [W12a.75p|  10-13 [ oskg 615 304630 | DAT40-ER16M-125 |193.4 057100 ™ ookg | 1388
223222 5:122' E:z(smésuu s | @ 25 1.0-16 | o 85kg ng 304632 | DATAO FRISN. 190 12184 Lookg 1 1415
- . - M16x2.0P g 304634 DAT40- ER20M- 70 138.4 1.20kg 1135
304312 DAT30- ER32- 63 110.8 50 32 2.0~20 | 0.90kg 695 w0105s | NDATI Eoov= oM 1650 ey ey
E - 9
304400 DAT40- ER11A- 80 148.4 1.05k 750 28 20 27 |M12x1.75P| 1.0-13.
~oa102 P P——r To51 19 11 | M16x1.0P | 05-7.0 T 15kg pr 304638 | DAT40-ER20M-125 |193.4 10130 Moo | 1340
- - - g 304640 | DAT40-ER20M-150 [218.4 1.80kg | 1470
304404 DAT40- ER16A- 70 138.4 1.30kg 690
304700 | DATs0-ER11M-70  [171.75 3.8kg 2010
304406 DAT40- ERL6A- 100 168.4 1.40kg 795
304702 | DAT50-ER11M-90  [191.75 3.9kg 2140
304408 DAT40- ERLGA- 125 193.4 28 16 | M10x1.5P | 0.5-10.0 [ 1.60kg 845
1 304704 | DAT50-ER11M-105 [206.75| 16 [ 11 | 15 [ mexiop | 05-7.0 4.0kg 2020
304410 DAT40- ERL6A- 150 218.4 1.65kg 910
304706 | DAT50-ER11M-135 |236.75 4.1kg 2210
304412 DAT40- ERL6A- 180 248.4 1.85kg 935
304708 | DAT50-ER11M-165 |266.75 4.2kg 2410
304414 DAT40- ER20A- 70 138.4 1.40kg 850
304416 DAT40- ER20A- 100 168.4 1,50k 810 OU7I0 L DATSU BRAEM T0 PILTS -.,——— ,—
v ATa0 TRaoA 155 v 34 20 [M12x1.75P| 1.0-13 n 95k9 P 304712 | DAT50-ER16M-90  |191.75 4.0kg 2155
= = - 9 304714 DATS50- ER16M- 105 [206.75| 22 16 [ 21 | M10x1.5P | 0.5~10.0 4.1kg 2025
304420 DAT40- ER20A- 160 228.4 2.20kg 970
304716 | DAT50-ER16M-135 |236.75 4.2kg 2220
304422 DAT40- ER25- 70 138.4 1.60kg 825
~oaion OAT0 ERas 100 o Took pon 304718 | DAT50-ER16M-165 |266.75 4.3kg 2445
- g 304720 | DAT50-ER20M-90  |191.75 4.1kg 2145
304426 DAT40- ER25- 150 218.4 42 25 | M16x2.0P | 1.0-16.0 [ 2.25kg 980 ~0i122 | oATs0 ereom 105 oo 75 e 2020
y B 2kg
304428 DAT40- ER25- 180 248.4 2.45k 1065 0-13.
~oate0 ST oo > sskg e 304724 | DATS0-ER20M-135 [osers| 20 | 20 | 27 [MIZxL7SP| 10130 TR 0%
- =20 304726 | DAT50-ER20M-165 |266.75 4.6kg 2435
304432 DATA40- ER32- 70 138.4 1.60kg 855
304434 DAT40- ER32- 100 168.4 . . 20200 |00k 915
304436 DATA0- ER32- 135 203.4 M16x2.0P | 2.0720 2.15kg 980 DAT/ER illing hack rgup
304438 DAT40- ER32- 150 218.4 2.65kg 1025
304440 DATA40- ER40- 70 138.4 1.50kg 950 —_—
304442 DAT40- ER40- 100 168.4 53 40 | m20x2.0p | 3.0~26.0 [ 2.00kg 1005
304444 DAT40- ER40- 135 218.4 2.30kg 1075
304446 DAT40- ER50- 100 168.4 78 50 | m24x2.0p | 5.0-340 [ 1.70kg 1200
304500 DAT50- ERL6A- 100 201.75 3.20kg 1475
304502 DAT50- ERL6A- 135 236.75 4.30kg 1605
28 16 | miox1.5P | 0.5~10.0
304504 DAT50- ERL6A- 160 261.75 4.50kg 1725
304506 DAT50- ERL6A- 180 281.75 4.80kg 1830
304508 DAT50- ER20A- 100 201.75 3.40kg 1445
304510 DAT50- ER20A- 135 236.75 | 34 20 | M12x1.75P| 1.0-13.0 | 3.60kg 1605
304512 DAT50- ER20A- 160 261.75 3.80kg 1725
304514 DAT50- ER25- 70 171.75 3.40kg 1355
304516 DAT50- ER25- 100 201.75 4.15kg 1480
42 25 | M16x2.0p | 1.0-16.0
304518 DAT50- ER25- 150 251.75 4.50kg 1750
304520 DAT50- ER25- 200 301.75 4.70kg 1965
304522 DAT50-ERS2.80 181.75 3.60kg 1430 304800 DAT30- ERL6- 60- 10PCS 110 ER16 10PCS 1.80kg
304524 DAS0ZERS2:3R20 2175 32 | m2oxz.0p | 2.0-200 |2:80k9 1650 304802 DAT30- ER20- 60- 12PCS 2-13 ER20 12PCS 2.40kg
304526 DAT50- ER32- 160 261.75 4.75kg 1820 304804 DAT30- ER25- 60- 15PCS 2-16 ER25 15PCS 2.70kg
304528 DAT50- ER32- 200 301.75 4.90kg 2005 304806 DAT30- ER32. 60- 18PCS 3-20 ER32_18PCS 4.20kg
304530 DAT50- ER40- 80 181.75 3.65kg 1525 304808 DATA40- ERL6- 70- 10PCS 1-10 ER16_10PCS 2.20kg
304532 DAT50- ER40- 120 221.75 4.80kg 1745 304810 DAT40- ER20- 70- 12PCS 2-13 ER20 12PCS 2.70kg
304532 DAT50- ERG0- 160 2or7s| ©2 40| M20x2.0P | 3.0-26.0 [T 1025 304812 DAT40- ER25- 70- 15PCS 2-16 ER25_15PCS 3.10kg
201536 SATEoNCRao%a00 0175 5 40k 105 304814 DAT40- ER32- 70- 18PCS 3-20 ER32_18PCS 5.20kg
- 304816 DAT40- ER40- 80- 23PCS 4-26 ER40_23PCS 8.90kg
4 DAT50- ER50- 80 . 1690
304538 18175 4.85kg 304818 DAT40- ER40- 80- 15PCS 4-26 ER40_15PCS 7.00kg
304540 DATSO- ERS0- 120 22175 g 50 | M2axz.op | 5.0-3a0 |22Ske 1895 304820 DAT50- ER32- 100- 18PCS 3-20 ER32 18PCS 7.00kg
304542 DAT50- ER50- 160 261.75 5.55kg 2065 304822 DAT50- ER40- 100- 15PCS 4-26 ER40_15PCS 9.50kg
304544 DAT50- ER50- 200 301.75 5.70kg 2250 304824 DAT50- ER50- 100- 23PCS 4-26 ER50 _23PCS 11.3kg




'x. >
o G2.5 Z000RPM

SCM- 21
P02
P05- P06
P02 T2
T
PO3- P04 P02 2l 5 SK
P09 P05- PO6 @
P02 1
304900 HSK40A- ER20A- 80 100 60 34 20 0.35kg_| 1010 P03- P04
304902 HSK40A- ER25- 80 100 60 42 25 32 | MIOXLSP o okg | 1035 P09 L HM
304904 HSK50A- ER16A- 80 105 54 0.50kg | 1145
304906 HSK50A- ER16A- 100 | 125 74 28 16 MI10x1.5P | 0.55kg | 1225
304908 HSK50A- ERL6A-120 | 145 94 0.70kg | 1295 . mm
304910 HSK50A- ER20A- 80 105 54 0.60kg | 1165
304912 HSK50A- ER20A- 100 | 125 74 34 20 M12x1.75P| 0.65kg | 1240 SR
304914 LSKECASERZ0NTI20M] 145 94 22 0.70kg | 1335 305100 NT30- ER16A- 45 1114 28 M10x1.5P. 0.50kg [ 635
304916 LISKSCATFR25280) 105 54 0.70kg | 1205 305102 NT30- ER20A- 45 1134 34| M12x1.75P 0.60kg [ 645
304918 HSKS50A- ER25- 100 125 | 74 42 25 M16x2.0P | 0.80kg | 1270 305102 e NEroeNes 1234 8 2 M12(M12*1.75P) Pt T eos
304920 LISKS0AER2SAESS 160 | 109 0.90kg | 1370 305106 NT30- ER32- 60 128.4 50 M16x2.0P AOARIZ"12) Ty gokg | 750
304922 HSK50A- ER32- 100 125 74 1.35kg | 1330 305108 NT30. ER40- 75 1234 53 0.00kg | 870
304924 HSKS0A- ER32- 135 160 | 109 50 82 M16x2.0P | 150kg | 1445 305110 NT40- ERL6A- 45 138.4 28 | M10x1.5P 0.95kg | 785
304926 HISKE0ATERS 23160 185 | 134 1.70kg 1550 305112 NT40- ER20A- 45 138.4 34 | M12x1.75P 1.20kg | 805 ADS
304928 LSKGSATERIGATIED 112 54 1.50kg 1395 305114 NT40- ER25- 55 148.4 42 M16(M16*2.0P) | 1.25kg | 850
304930 LSKGSAJFRIGAJIOUM| 132 74 28 16 M10x1.5p | L.55kg 1490 305116 NT40- ER32- 60 153.4 10 50 M16x2.0P A06(5/8"-11) | 1.30kg [ 870
304932 LISKEIATFRTGASIZ0M] 152 94 1.70kg 1580 305118 NT40- ER40- 70 163.4 63 M20x2.0P 1.35kg | 1,020
304934 HSK63A- ER16A- 160 | 192 134 1.90kg 1790 305120 NT40- ER50- 80 173.4 78 M24x2.0P 2.00kg | 1.255
304936 HSK63A- ER20A- 80 112 54 1.60kg | 1405 305122 NT50- ER32- 75 201.8 50 M16x2.0P 3.20kg | 1635
304938 HSKE3A- ER20A-100 | 132 74 34 20 53 | M12x1.75p |—L70kg 1505 305124 NT50- ER40- 80 206.8 12 63 vzoxz.op | M24M2473.0P) TG 115
304940 HSKESASERZ0AZM208] 152 2 1.80kg 1605 305126 NT50- ER50- 80 206.8 78 M24x2.0P A07(1™-8) 3.70kg | 2.270
304942 HSK63A- ER20A-160 | 192 | 134 2.00kg | 1810
304944 HSK63A- ER25- 80 112 54 1.70kg | 1440
304946 HSK63A- ER25- 100 132 74 1.80kg | 1525
42 2! M16x2.0P
304948 HSK63A- ER25- 120 152 94 2.00kg | 1610
304950 HSK63A- ER25- 150 182 | 124 2.30kg | 1780 ER
305000 HSK63A- ER32- 80 112 54 - 2.50kg | 1495
305002 HSK63A- ER32- 100 132 74 2.55kg | 1595
305004 HSK63A- ER32- 145 177 [ 119 0 32 M16x2.0P [ 2.70kg | 1805 NT/ER illingl hack rgup
305006 HSK63A- ER32- 160 192 [ 134 3.10kg | 1890
305008 HSK63A- ER40- 80 112 54 - - 2.65kg | 1620 oz
305010 HSK63A- ER40- 100 132 74 2.70kg | 1710
305012 HSK63A- ER40- 120 152 94 63 40 2.77kg | 1810
305014 HSK63A- ER40- 150 182 | 124 M20x2.0P ™5 g5kg | 1940 —_—
305016 HSK63A- ER40- 170 202 | 144 3.10kg | 2055
305018 HSK63A- ER50- 120 152 94 78 50 M24x2.0P | 3.50kg | 2050
305020 HSK100A- ER16A-80 | 130 51 2.90kg | 2670 |
305022 HSK100A- ER16A- 100 | 150 71 28 16 M10x1.5P | 2.95kg | 2885
305024 HSK100A- ER16A-160 | 210 | 131 3.45kg | 3555
305026 HSK100A- ER20A-80 | 130 51 2.90kg | 2660
305028 HSK100A- ER20A-100 | 150 71 34 20 M12x1.75P | 3.00kg | 2890
305030 HSK100A- ER20A-80 | 210 | 131 3.30kg | 3770
305032 HSK100A- ER25-100 | 150 71 3.00kg | 2915
42 25 M16x2.0P
305034 HSK100A-ER25-130 | 180 | 101 . 3.20kg | 3255
305036 HSK100A- ER32- 100 150 71 3.15kg 2975
305038 HSK100A-ER32-130 | 185 | 106 50 32 M16x2.0p | 3.35kg | 3420
305040 HSK100A-ER32-160 | 200 | 121 3.50kg | 3525
305042 HSK100A- ER40- 80 130 51 3.30kg | 2870
305044 HSK100A- ER40-120 | 170 91 63 20 M20x2.0p | 3.38kg | 3205
305046 HSK100A-ER40-175 | 225 | 146 4.20kg | 39035
205048 e e | T asokg | aies 305200 NT30- ER16- 76- 10PCS 1-10 ER16 10PCS | 1.70kg |
205050 R0 ool 170 o 78 50 m2ax2.0p [0 305202 NT30- ER16- 76- 12PCS 2-13 ER16 12PCS |yip(Mi2s1.7sp)| 1.80kg |
305204 NT30- ER25- 55- 15PCS 2-16 ER25 15PCS | A04(1/2™-12) | 2.80kg
305206 NT30- ER25- 55- 7PCS 4-16 ER25 7PCS 2.40kg
305208 NT30- ER32- 55- 18PCS 3-20 ER32 18PCS 4.20kg
305210 NT30- ER32- 55- 11PCS 4-20 ERs2 11PCS |\ 1o 7p [ 3.20kq |
305212 NT30- ER32- 55- 6PCS 6-20 ER32 6PCS A04(1/2- 1) |80k
305214 NT30- ER40- 70- 23PCS 4-26 ER40_23PCS | agg(12-13) | 7-30kg
305216 NT30- ER40- 70- 15PCS 4-26 ER40_15PCS 6.00kg
305218 NT30- ER40- 70- 7PCS 6-25 ER40_7PCS 4.60kg
305220 NT40- ER16- 76- 10PCS 1-10 ER16_10PCS 2.40kg
305222 NT40- ER20- 76- 12PCS 2-13 ER20 12PCS 2.50kg
305224 NT40- ER25- 50- 15PCS 2-16 ER25_15PCS 3.30kg
305226 NT40- ER25- 50- 7PCS 4-16 ER25_7PCS 3.00kg
305228 NT40- ER32- 50- 18PCS 3-20 ER32 18PCS |M16(M16+2.0P)|_4.80kg
305230 NT40- ER32- 50- 11PCS 4-20 ER32 11PCS | pog(s/ge. 11) | 2:80k8
305232 NT40- ER32- 50- 6PCS 6-20 ER32 6PCS 3.40kg
305234 NT40- ER40- 60- 23PCS 4-26 ER40_23PCS 8.20kg
305236 NT40- ER40- 60- 15PCS 4-26 ER40__15PCS 6.90kg
305238 NT40- ER40- 60- 7PCS 6-25 ER40 7PCS 5.20kg
305240 NT40- ER50- 80- 12PCS 12-34 ER50 12PCS 10.0kg
305242 NT50- ER32- 60- 18PCS 3-20 ER32 18PCS 6.40kg
305244 NT50- ER32- 60- 11PCS 4-20 ER32 11PCS 5.40kg
305246 NT50- ER32- 60- 6PCS 6-20 ER32 6PCS 5.00kg
305248 NT50- ER40- 65- 23PCS 426 ER40 23pcs | M24(M24*3.0P) 75554
305250 NT50- ER40- 65- 15PCS 4-26 ER40_15PCS A07(1"-8) [ 8.50kg
305252 NT50- ER40- 65- 7PCS 625 ER40_7PCS 7.00kg
305254 NT50- ER50- 65- 12PCS 12-34 ER50 12PCS 11.0kg

@c20



Milling yStem

R8/ER

Collet oMer

‘mm
305300 MTB2- ER20A- 52 116 35 64 | wmioxisp | MLOMLO*15P) 0.45kg | 590 :mm
305302 MTB2- ER25- 55 119 42 i A02(3/8"-16) | 0.50kg | 685
305304 MTB3- ER25- 55 136 42 . 0.60kg | 705
S K 305306 MTB3- ER32- 60 141 50 81 | M12x1.75P Mz(‘:‘zlllzzi'zgp’ 0.80kg | 825 305500 R8-ER16A-38 | 135 | 28 16 M10x1.5P 0.65kg 755
305308 MTB3- ER40- 70 151 63 1.30kg | 1130 305502 R8- ER32- 60 162 | 50 | 32 | 102 |m12x1.75P| 7/16"-20 0.90kg 895
305310 MTB4- ER32- 60 162.5 50 102.5| Mi6x2.0p M16(M16+2.0P) [ 0-95kg 885 305504 R8- ER40- 65 168 63 40 M16x2.0P 1.10kg 1120
305312 MTB4- ER40- 70 172.5 63 ) ) A06(5/8"- 11) 1.50kg 1205
ST/ER illingv hack raup
MT/ER illingv hack raup
HM
SR
ADS
305400 MTB2- ER16- 40- 10PCS 1-10 ER16 10PCS 1.05kg
305402 MTB2- ER20- 43- 12PCS 2-13 ER20 12PCS | M10(M10*1.5P) 1.30kg
305404 MTB2- ER25- 47- 15PCS 2-16 ER25 15PCS | A02(3/8"-16) | 2.40kg
305406 MTB2- ER25- 47- 7PCS 4-16 ER25_7PCS 2.00kg 305600 R8- ER16- 38- 10PCS 1-10 ER16 10PCS 1.50kg
305408 MTB3- ER16- 40- 10PCS 1-10 ER16_10PCS 1.15kg 305602 R8- ER32- 40- 18PCS 3-20 ER32_18PCS 4.30kg
305410 MTB3- ER20- 43- 12PCS 2-13 ER20 12PCS 1.35kg 305604 R8- ER32- 40- 11PCS 4-20 ER32_11PCS 3.20kg
305412 MTB3- ER25- 47- 15PCS 2-16 ER25 15PCS 2.50kg 305606 R8- ER32- 40- 6PCS 6- 20 ER32_6PCS 2.90kg
305414 MTB3- ER25- 47- 7PCS 4-16 ER25 7Pcs | MI0(M10*1.5P)["5 10kg 305608 R8- ER40- 70- 23PCS 4-26 ER40 23PCS 7.30kg
305416 MTB3- ER32- 70- 18PCS 3-20 ER32 18PCS '\MZ(NHZ*”L/:-F 4.10kg 305610 R8- ER40- 70- 15PCS 4-26 ER40 15PCS 6.10kg
305418 MTB3- ER32- 70- 11PCS 220 ER32 11PCS :ggggn: g; 3.00kg 305612 R8- ER40- 70- 7PCS 6-25 ER40_7PCS 4.60kg
ER 305420 MTB3- ER32- 70- 6PCS 6-20 ER32 6PCS A02(3/8"- 16) |-2-79KO
305422 MTB3- ER40- 80- 23PCS 4-26 ERA40_23PCS 7.20kg
305424 MTB3- ER40- 80- 15PCS 4-26 ER40_15PCS 6.00kg
305426 MTB3- ER40- 80- 7PCS 6-25 ER40__7PCS 4.50kg
305428 MTB4- ER32- 60- 18PCS 3-20 ER32 18PCS 4.30kg
305430 MTB4- ER32- 60- 11PCS 4-20 ER32 11PCS 3.20kg
(oV4 305432 MTB4- ER32- 60- 6PCS 6-20 ER32 6PCS |M16(M16*2.0P)[ 2.90kg
305434 MTB4- ER40- 82- 23PCS 4-26 ER40 23PCS | A06(5/8"-11) | 7.30kg
305436 MTB4- ER40- 82- 15PCS 4-26 ER40 _15PCS 6.10kg
305438 MTB4- ER40- 82- 7PCS 6-25 ER40 _7PCS 4.60kg
305440 MTBS5- ER40- 82- 23PCS 4-26 ER40 23PCS 8.20kg
305442 MTB5- ER40- 82- 15PCS 4-26 ER40 15PCS | M24(M24*3.0P)|_6.90kg
305444 MTBS- ER40- 82- 7PCS 6-25 ER40 7PCS A07(1%-8) | 5:40kg
305446 MTBS5- ER50- 85- 12PCS 12-34 ER50 12PCS 9.50kg

Jic21



ST/ER

illingvl hack

raup

SK

HM

SR

ADS

ER

0oz

C/ER A traight hank . i
D 1 D
305900 ST16- ER11-50-13PCS 17 ER11 13PCS | 0.60kg
L1 L 305902 ST16- ER1150- 7PCS 17 ER11_7PCS 0.50kg
305904 ST16-ER11- 100- 13PCS 17 ER11_13PCS | 1.70kg
P02 305906 ST16- ER11-100- 7PCS 17 ER11_7PCS 1.60kg
305908 ST16- ER16- 100- 10PCS 110 ER16_10PCS | 1.00kg
305910 ST16-ER16- 100- 8PCS 3-10 ER16_8PCS 1.00k
POS- P06 305912 ST20- ER16- 50- 10PCS 110 ER16_10PCS 1.05k:
P02 ‘mm 305014 ST20- ER16- 50- 8PCS 3-10 ER16_8PCS 1.00kg
: 305916 ST20- ER16- 100- 10PCS 110 ER16 10PCS | 1.10kg
305918 ST20- ER16- 100- 8PCS 3-10 ER16_8PCS 1.05kg
305920 ST20- ER16- 150- 10PCS 110 ER16_10PCS | 1.20kg
305922 ST20-ER16- 150- 8PCS 3-10 ER16_8PCS 1.15kg
305924 ST25 ER16-50- 10PCS 1-10 ER16_10PCS | 1.10kg
305926 ST25. ER16- 50- 8PCS 3-10 ER16_8PCS 1.05kg
305700 C20- ER16- 50 50 485 305928 ST25. ER16- 100- 10PCS. 1-10 ER16__10PCS 1.20kg
— 305930 ST25 ER16- 100-8PCS 3-10 ER16_8PCS 1.15kg
805702 | C20- ER16-100 ]100 30 | 28 |ERI6] 535 Sos0ss STostrio Teosres o Emiegecs—Traoe
" - ER16-150- 1 ER16_8PCS 1.30kg
305936 ST20- ER20- 50- 12PCS 2-13 ER20_12PCS | 1.20kg
305704 | C20-ER16-150 |150 645 305938 ST20- ER20-50- 10PCS 4-13 ER20 10PCS | 1.15kg
305940 ST20- ER20- 100- 12PCS 213 ER20 12PCS | 1.30kg
305706 | C20- ER20- 50 50 485 305942 ST20- ER20- 100- 10PCS 413 ER20_10PCS | 1.25kg
20 36 34 |ER20[———— 305944 ST20- ER20- 150- 12PCS 2-13 ER20 12PCS 1.40kg
305708 C20- ER20- 100 (100 535 305946 ST20- ER20- 150- 10PCS. 2-13 ER20__10PCS 1 35kg
305948 ST25. ER20- 50- 12PCS 2-13 ER20_12PCS | 1.30kg
305710 C20- ER25- 50 50 590 305950 ST25- ER20- 50- 10PCS 4-13 ER20__10PCS 1.25kg
— 305952 ST25 ER20-100- 12PCS 2-13 ER20_12PCS | 1.40kg
" - 305954 ST25- ER20- 100- 10PCS 4-13 ER20_10PCS | 1.35k
305712 |RC204ER252T00NN(100 46 42 |ER25 &i 305956 ST25- ER20- 150- 12PCS 2-13 ER20_12PCS 1.50k:
B - 305958 ST25 ER20- 150- 10PCS 413 ER20_10PCS | 1.45kg
305714 [ C20-ER25-150 [150 755 305960 ST20- ER25- 50- 15PCS 2-16 ER25 15PCS | 2.40kg
305962 ST20- ER25-50- 7PCS 416 ER25_7PCS 1.90kg
305716 | C25-ER16-100 [100 30 28 |ER16 535 305964 ST20- ER25- 100- 16PCS 2-16 ER25_15PCS | 2.40kg
305966 ST20- ER25- 100- 7PCS 416 ER25 7PCS 1.90k
305718 | C25- ER16-150 |150 645 305968 ST20- ER25-150- 15PCS 216 ER25_15PCS |2 5ukg
305970 ST20- ER25- 150 7PCS 4-16 ER25_7PCS 2.00kg
305720 C25- ER20- 150 |150 36 34 |ER20| 645 305972 ST25- ER25- 100- 15PCS 2-16 ER25 15PCS | 2.50kg
305974 ST25. ER25_100-7PCS 416 ER25_7PCS 2.00kg
305722 | C25-ER25-100 (100 25 645 305976 ST25- ER25- 150- 15PCS 2-16 ER25 15PCS | 2.65kg
46 42 |ER25—— 305978 ST25 ER25- 150- 7PCS 416 ER25 7PCS 2.20kg
305724 | C25- ER25- 150 |150 755 305980 ST32_ER25_60-15PCS 2-16 ER25_15PCS | 2.50kg
305982 ST32- ER25- 60- 7PCS 4-16 ER25_7PCS 2.00kg
i R 305984 ST25- ER32-80- 16PCS 3-20 ER32_18PCS | 4.10kg
305726 | C25- ER32-80 80 54 50 |ER32| 700 305986 ST25 ER32.80-11PCS 4-20 ER32_11PCS | 3.00kg
305988 25- ER32-80- 6PCS 6-20 ER32_6PCS 2.70k
305728 | C25- ER40-100 100 55 63 |ER40| 965 305990 32 ER32 100 18PCS 3-20 ER32_18PCS | 4 mﬁ
305992 32 ER32. 100- 11PCS 4-20 ER32_11PCS [ 3.20k
305730 | C32- ER25-60 60 46 42 |ER25( 645 305994 32- ER32- 100- 6PCS 6-20 ER32_6PCS Z.QTkZ
305996 40 ER32-100- 18PCS 3-20 ER32_18PCS | 4.50kg
305732 C32- ER32-100 |100 32 54 50 |ER32| 755 305998 T40- ER32- 100- 11PCS 4-20 ER32_11PCS | 3.40kg
306000 T40- ER32-100-6PCS 6-20 ER32_6PCS 3.10kg
305734 C32- ER40- 100 |100 55 63 |ER40| 965 306002 T32- ER40- 100- 23PCS 4-26 ER40_23PCS 7.30kg
306004 T32 ER40-100- 15PCS 4-26 ER40_15PCS | 6.10kg
305736 C40_ ER32_ 100 100 54 50 ER32 805 306006 T32- ER40- 100- 7PCS 6-25 ER40 7PCS 4.60kg
40 306008 T40_ERA0-100- 23PCS 426 ER40_23PCS | 7.60kg
306010 T40- ER40- 100- 15PCS 4-26 ER40_15PCS | 6.50kg
305738 | C40- ER40-100 100 55 63 |ER40) 965 306012 T40- ER40-100- 7PCS 625 ER40_7PCS 5.00kg
C/ER M traight hsnk
[ I I é
D1 I: ;l o
u g ST/ER illing hack raup
- — M
L1 L I |
P02
P0O5- P06
P02
mm
305800 | C16- ER11-50M 50 485
16 12 28 |ER1l1[———
305802 | C16- ER11-100M | 100 535
305804 | C20- ER16-50M 50 485
22 —
305806 | C20- ER16-100M [ 100 18 ER16 | 535
306100 ST16- ERLLM- 50- 13PCS 17 ER11_13PCS 0.60kg
305808 | C20- ER16- 150M | 150 20 645 306102 ST16- ERL1M- 100- 13PCS 1-7 ERL1 13PCS 0.70kg
305810 | C20- ER20- 50M 50 485 306104 ST16- ERL6M- 100- 10PCS 110 ER16_10PCS 1.00kg
28 - 306106 ST20- ER16M- 50- 10PCS 110 ER16_10PCS 1.05kg
305812 | C20- ER20- 100M | 100 19 ER20| 535 306108 ST20- ERL6M- 100- 10PCS 1-10 ER16_10PCS 1.10kg
— 306110 ST20- ER16M- 150- 10PCS 1-10 ER16_10PCS 1.20kg
305814 | C20- ER20- 150M | 150 645 306112 ST25- ER16M- 100- 10PCS 1-10 ER16_10PCS 1.20kg
306114 ST25- ERL6M- 150- 10PCS 1-10 ER16_10PCS 1.35kg
305816 C25- ER20- 50M 50 485 306116 ST20- ER20M- 50- 12PCS, 2-13 ER20 12PCS 1.20kg
— 306118 ST20- ER20M- 100- 12PCS 2-13 ER20_12PCS 1.30kg
305818 C25- ER20- 100M | 100 25 19 28 |ER20 535 306120 ST20- ER20M - 150- 12PCS 2-13 ER20 12PCS 1.40kg
— 306122 ST25. ER20M- 100- 12PCS 2-13 ER20 12PCS 1.40kg
305820 | C25- ER20-150M | 150 645 306124 ST25- ER20M- 150- 12PCS 2-13 ER20 12PCS 1.50kg

¢ca2



Milling

= P02
PO5- P06

P02

RISESIAA Model explanation

al A L

s fol-fs ' ' < =F
‘L R ETENGRE dox4
BAEREHE
FEEAREYE
PAL TN
SK
[GES RF
EEE& Collet spanner
Order oN Chucking Dia ¢
HM
306200 C12- ER11- 100M . »
306202 ER11- 150M 2.0~7.0 16.6 150 ER11M ER11 ER11M 400
SR 306204 C16- ER11- 100M 2070 1 16.6 100 350
306206 ER11- 150M 0-7 16.6 150 ER11M ERT ER11M 400
306208 ER16- 100M 25 100 300
306210 ER16- 150M 3.0~10 22 16 25 150 ER16M ER16 ER16M 350
306212 ER16- 200M 25 200 400
ADS 306214 ER20- 100M 40 100 300
306216 ER20- 150M 8.0-13 28 40 150 ER20M ER20 ER20M 350
306218 C20- ER16- 100M o1 0 100 300
306220 ER16- 150M . 22 20 150 ER16M ER16 ER16M —350
306222 ER20- 100M 40 100 300
306224 ER20- 150M 8.0-13 28 20 40 150 ER20M ER20 ER20M 350
306226 ER25- 100M 0 100 200
306228 ER25- 150M 3.0~16.0 35 50 150 ER25UM ER25 ER25UM 450
306230 C25- ER20- 100M 40 100 350
306232 ER20- 150M 3.0~13 o8 40 150 ER20M ER20 ER20M 400
306234 ER25- 100M 2 50 100 400
306236 ER25- 150M 3.0~16.0 35 50 150 ER25UM ER25 ER25UM 450
(o4

ZIESEI Model explanation I [ f@ a
!m;ﬁmﬁmmﬁg | UL47
BABEESE h
TR
DR L
e P02
P05- P06
P02
wFE
R =T size spanner
Order oN a
306300 C20- ER16- 100A
306302 C20- ER20- 100A 100 30 19 34 20 ER20A ER20 ER20A 350
306304 C25- ER20- 100A 100 30 24 34 25 ER20A ER20 ER20A 400
306306 C20- ER11- 100A 100 30 19 19 20 ER11A ER11 ER11A 400
306308 C25- ER11- 100A 100 30 29 19 25 ER11A ER11 ER11A 450
306310 C25- ER16- 100M 100 30 19 22 20 ER16M ER16 ER16M 400
306312 C32- ER20- 100M 100 30 19 28 20 ER20M ER20 ER20M 450
306314 C25- ER20- 100M 100 30 24 28 25 ER20M ER20 ER20M 400




AGESHBA Model explanation

[c20 | ER] [20f15d
REETMABNRE

» -Lﬁﬂmgﬁg
E3
WL TN
d1
t1
R N T
X
C [ ] |\ILL§ D
LL—1>
- L T—
B s
[ | [ |
dox4 HM
P02
P05- P06 SR
P02
ADS

306400 C12- ER11- 50 16.6 50 350
306402 ER11- 100 2.0-7 16.8 12 6.6 100 ERTIA ERT1 ERT1A 350

306404 C16- ER11- 50 16.6 50 350 ER
306406 ER11- 100 20~7 16.8 16.6 100 ER11A ER11 ER11A 350
306408 ER11- 150 16.6 150 400
306410 ER16- 100 40.0 100 300

306412 ER16- 150 3.0-10 24.9 16 200 150 ER16A ER16 ER16A 350 0Z
306414 ER16- 200 40.0 200 400
306416 ER20- 100 40.0 100 300
306418 ER20- 150 3.0-13 298 200 T50 ER204 ER20 ER20A 350
306420 C20- ER11- 100 16.6 100 400
306422 ER11- 150 2.0-~7 16.8 16.6 150 ER11A ER11 ER11A 400
306424 ER11- 200 16.6 200 500
306426 ER16- 100 40.0 100 300
306428 ER16- 150 3.0-10 24.9 40.0 150 ER16A ER16 ER16A 350
306430 ER16- 200 20 40.0 200 400
306432 ER20- 100 40.0 100 300
306434 ER20- 150 3.0-13 29.8 40.0 150 ER20A ER20 ER20A 350
306436 ER20- 200 40.0 200 400
306438 ER25- 100 50.0 100 350
306440 ER25- 150 3.0~16 42 50.0 150 ER25UM ER25 ER25UM 200
306442 C25- ER16- 100 40.0 100 350
306444 ER16- 150 3.0~10 249 40.0 150 ER16A ER16 ER16A 400
306446 ER16- 200 40.0 200 450
306448 ER20- 100 40.0 100 400
306450 ER20- 150 3.0~13 29.8 25 40.0 150 ER20A ER20 ER20A 450
306452 ER20- 200 40.0 200 500
306454 ER25- 100 50.0 100 400
306456 ER25- 150 3.0-16 42 50.0 150 ER25UM ER25 ER25UM 450
306458 ER25- 200 50.0 200 500
306460 C25- ER20- 150 40.0 150 450
306462 ER20- 200 3.0~13 29.8 20.0 200 ER20A ER20 ER20A 500
306464 ER25- 150 50.0 150 500
306466 ER25- 200 3.0-16 2 82 50.0 200 ER25UM ER25 ER25UM 550
306468 ER32- 150 65.0 150 550
306470 ER32- 200 3.0~20 50 65.0 200 ERS2UM ER32 ER32UM 600
306472 ER40- 150 6.0~26 63 65.0 150 ER40UM ER40 ER40UM 600
306474 C42- ER32- 100 3.0~20 50 i 65.0 100 ER32UM ER32 ER32UM 600
306476 ER40- 100 6.0 ~ 26 63 65.0 100 ER40UM ER40 ER40UM 650




Milling yStem

o
’ D2 |D
BT.NO. el ()
P02 1
P05- P06 | L
P02
P03- P04
P09
0Z25
SK ’ :mm
HM M12(M12*1.75P)
306500 NT30- 0Z25- 70 70 60 0725 1.00kg 925
A04(1/2"-12)  05(1/2A- 13)
M16(M16*2.0P)
306502 NT40- 0Z25- 70 70 60 0z25 1.30kg 925
SR A06(5/8"- 11)
M24(M24*3.0P
306504 NT50- 0Z25- 73 73 60 0z25 ( 8.0P) 3.20kg 1300
A07(1"- 8)
ADS 306506 MTB2- 0Z25- 85 85 60 0z25 M10(M10*1.5P) 1.00kg 925
M10(M10*1.5P)
306508 MTB3- 0Z25- 70 70 60 0z25 M12(M1271.75P) 1.00kg 925
A04(1/2"-12)  05(1AR"- 13)
A02(3/8"- 16)
M16(M16*2.0P)
306510 MTB4- 0Z25- 70 70 60 0z25 1.20kg 925
ER A06(5/8"- 11)
M24(M24*3.0P)
306512 MTB5- 0Z25- 65 65 60 0z25 2.00kg 1165
A07(1"- 8)
0z 306514 R8- 0Z25- 70 70 60 0z25 7/16"- 20 1.20kg 925
306516 BT30- 0Z25- 70 70 60 0725 M12*1.75P 0.90kg 1085
306518 BT40- 0Z25- 80 80 60 0z25 M16*2.0P 1.50kg 1100
306520 BT50- 0Z25- 100 100 60 0z25 M24*3.0P 4.30kg 1795
306522 SK40- 0Z25- 80 80 60 0z25 M16*2.0P 1.90kg 1220
306524 SK50- 0Z25- 100 100 60 0725 M24%3.0P 4.20kg 1855
306526 CAT40- 0Z25- 3" 3" 60 0z25 £/gt 11 1.90kg 1220
306528 CAT50- 0Z25- 31/2" | 31/2" 60 0725 1.8 4.00kg 1850
0Z32
M12(M12*1.75P)
306600 NT30- 0Z32- 100 100 78 0z32 2.00kg 1455
A04(1/2"- 12)
M16(M16*2.0P)
306602 NT40- 0Z32- 85 85 78 0732 2.20kg 1455
A06(5/8"- 11)
M24(M24*3.0P
306604 NT50- 0Z32- 80 80 78 0z32 ( ) 4.80kg 1650
A07(1"- 8)
M24(M24*3.0P)
306606 MTB5- 0Z32- 100 100 78 0z32 3.00kg 1500
A07(1"- 8)
306608 BT40- 0Z32- 90 90 78 0z32 M16*2.0P 2.30kg 1520
306610 BT50- 0Z32- 100 100 78 0z32 M24*3.0P 5.00kg 2285
306612 BT50- 0Z32- 150 150 78 0z32 M24*3.0P 6.00kg 2595
306614 SK40- 0Z32- 80 80 78 0z32 M16*2.0P 2.30kg 1580
306616 SK50- 0Z32- 100 100 78 0z32 M24*3.0P 5.00kg 2345
306618 CAT40- 0Z32- 3" 3" 78 0z32 5/8"- 11 2.30kg 1580
306620 CAT50- 0Z32-31/2" | 31/2" 78 0z32 1"-8 5.00kg 2345

I cas



7PCS:6 8 @@ 2 B D 5

15PCS:3 4 5 6 7 809 1 2 B 5 B D 5

SK
306700 NT30- 0Z25 7 M12(M12*1.75P) 3.7kg
306702 NT30- 0Z25 15 A04(1/2"-12) 05@/2"-13) 5.2kg
306704 NT40- 0Z25 7 R 4.0kg
306706 NT40- 0Z25 15 M16(M16+2.0P)A06(5/8"- 11) 5.5kg HM
306708 NT50- 0725 7 *3 OPYAOT(1"- 6.5kg
306710 NT50- 0225 15 M24(M24*3.0P)A07(1"- 8) 8.5kg
306712 MTB2- 0225 7 . 3.6kg
306714 MTB2- 0Z25 15 M10(M10*1.5P)A02(3/8"- 16) 5.1kg SR
306716 MTB3- 0Z25 7 M10(M10*1.5P) 12(NWL2*1.75P) 3.7kg
306718 MTB3- 0225 15 A04(L/2"-12) 05(a/2"-13) 02(8/8"- 16) 5.2kg
306720 MTB4- 0725 7 . 3.9kg
306722 MTB4- 0Z25 15 M16(M16*2.0P) 08(5/8"-11) 5.4kg
306724 MTB5- 0725 7 i 4.7kg
306726 MTB5- 0725 15 M24(M24*3.0P)A07(1"- 8) 6.2Kg ADS
306728 R8- 0725 7 | 3.7Kg
306730 R8- 0725 15 7/16"- 20 5.2kg
306732 BT40- 0225 7 4.4kg
306734 BT40- 0225 15 5.9Kg
306736 BT50- 0725 7 7.5Kg
306738 BT50- 0725 15 9.5||:g
306740 SK40- 0725 7 4.2Kg

0 16*2M1P

306742 SK40- 0725 15 DING9871A4 5-;&9 ER
306744 SK50- 0725 7 “ 7.3kg
306746 SK50- 0725 15 DIN69871ASO  24*3 /P 9.3kg

oz

8PCS6 8 A 2 B D B 2

15PCS:6 8 @ 2 B ¥ 5 5 B B 2 B B B® 2 ._‘9‘
306800 NT30- 0732 8 M12(M12*1.75P) 7.0kg
306802 NT30- 0Z32 15 A04(1/2"-12) 05@/2"- 13) 9.0kg
306804 NT40- 0Z32 8 . 7.2kg
306806 NT40- 0732 15 M16(M16%2.0P)A06(5/8"- 11) 9.2kg
306808 NT50- 0732 8 - 9.8kg
306810 NT50- 0232 15 M24(M24*3.0P)A07(1"- 8) 11.8kg
306812 MTB5- 0732 8 X - 8.0kg
306814 MTB5- 0232 15 M24(M24*3.0P)A07(1"- 8) 10.0kg
306816 BT40- 0732 8 7.4Kg
306818 BT40- 0732 15 9.4kg
306820 BT50- 0732 8 10.0kg
306822 BT50- 0732 15 12.0kg
306824 SK40- 0732 8 7.2kg
306826 SK40- 0732 15 DIN69871A40  16*2.0IP 9.2kg
306828 SK50- 0732 8 9.8kg
306830 SK50- 0732 15 DIN6SB71AS0  24*3MP 11.8Kg

@cas



Milling yStem

S HROWFFERIIM, B HBURHE, E
*RB|ABETHEME, ;

@ torque tapping special tool holders, reduce the loss of wire tapping.

Tapping

4 Quick change to improve efficiency. L1
P02
P0O7- P08
P02
- C |D
RISEFAA Model explanation PO§O;O4
[1c][312]-[67]
l W 1125 s DA S R
BAEBEE
. L
R L
SK »
v
307000 BT30- TC312- 57 33 46 57 105.4 6 12 TC312 M3~M14 1.50 2250
307002 BT40- TC312- 67 33 67 127.4 6 12 TC312 M3~M14 1.80 2250
HM 307004 - TC822- 94 48 | 63 94 159.4 12.5 12.5 TC822 M8 ~ M22 2.50 2500
307006 -TC1638- 164 72 164 229.4 20 20 TC1638 M14 ~ M36 3.20 5000
307008 BT50- TC312-100 33 100 172.8 6 12 TC312 M3 ~M14 4.00 3250
SR 307010 - TC822- 102 48 100 102 203.8 12.5 12.5 TC822 M8 ~ M22 5.00 3800
307012 - TC1638- 163 72 163 243.8 20 20 TC1638 M14 ~M36 6.00 5500
TAP HOLDER ARBOR
[ (-GT)
L TAPPER CHUCK
ADS )
[T ° L EW
~ ¢ LB
|| J‘L L
GTo -0 L
ER
307050 GT3-3 3 |3.25 2.5 | 260
702 - M3-M12 | 19 | 4 T3-M 1
307020 0 30-G3 3 9| 46 | 90 GT3 300 207052 2 4 a1 315 260
307022 40-G3 M3-M12 | 19 | 46 | 90 GT3-M 1500
OZ = 307054 -5 5 |5.1 4.0 | 260
307024 -G12 M12-M24 | 30 | 66 |130 GT12-M 1500 38|19 (33.7| 56
307056 -6 6 6.4 5.0 | 260
307026 050-G3 M3-M12 | 19 | 46 | 95 GT3-M 2000
307058 -8 8 |6.4 5.0 | 260
307028 -G12 M12-M24 | 30 | 66 |130 GT12-M 2000
307060 -10 10 | 8.1 6.3 | 260
307030 -G24 M24-M42 | 45 | 92 | 180 GT24-M 2000
307062 =12 12 | 9.1 7.1 | 260
= 307064 GT12-12 12 19.1 7.1 | 300
. ('JJ) 307068 -14 14 11.3 9.0 | 300
TAP HOLDER WITH MORSE TAPER 307070 =16 16 |12.6 10.0 | 300
L1 307072 -18 18 |14.1 11.2 | 300
— 307074 -20 20 |14.1 11.2| 300
MLNO. . 307076 22 22 [16.1] 58|30 [51.7/ 82 [15 5] 300
H= o 7}1 307078 -24 24 |18.1 14.0| 300
4 | - - -H- |d
307080 GT24-24 24 |18.1 14.0 | 400
307032 MT3-2J3 M3 M12 3 |23.825 187 900 307081 2y 27 |20.1 16.0| 400
46 | 19 | 90 —— GT3-M
307034 MT4-1J3 4 31.267 212 900 307082 -30 30 |20.1 16.0| 400
307036 MT3-334 3 23.825 216 900 307083 -33 33 |22.5) 85| 4574.5/123) 18.0 | 400
307038 MT4-1J4 M12 M24 4 31.267| 66 | 30 | 130| 241 | GT12-M | 900 307084 -36 36 |25.1 20.2| 400
307040 MT5-334 274 1200 307085 -39 39 |28.1 22.4| 400
307042 MT5-305 V24 iz 5 |*4399 T s 11601 314 | Gr2am | 1200 307086 -42 42 [28.1 22.4| 400
307046 MW6-JJ6 M45 M80 6 63.348| 135| 78 | 156|338 | GT45-M | 1500 307087 GT45-45 45 136.1 29 | 800
307088 -48 48 |38.1 29 | 800
307089 -52 52 |42.1 32 | 800
307090 - 56 |45.1 35 | 800
M3-M80 56
307091 -60 60 |45.1 135| 78 |116/210 35 | 800
. X X . . o 307092 -64 64 |48.1 36 | 800
The tapping processing of drill press,lathe,milling machine and machining center can use
. e 307093 -68 68 |52.1 39 | 800
different specifications of Tap Holders.
Tap Holder consists of arbor and tap sleeve with the tapping range M3-M80. 307094 -70 70 |52.1 44 | 800
The arbor has the front-back thread pitch compensation device while tap sleeve has 307095 -76 76 |56.1 46 | 800
torque overload protection device. 307096 -80 80 |56.1 48 | 800

Jico7



P02

PO7- P08
P02
[ ] ER
[ ] SCM21
°
[ ]
°
°
306900 |TP-20 44 20 0.5kg 900 SK
306902 [TP- 225 44 25 34 | 159 | 172 | 79 80 | ER20 | M3~M16 0.7kg 900
306904 |TP-232 44 32 0.9Kg 960
306906 |STP- 20 37 20 155 1.0kg 900
306908  [TP-32 56 32 | 50 [1745[ 190 [ 945 | 80 | ER32 | M3~-M27 1-6::9 1000 HM
306910 _ |TPM- 320 44 | MT3 _ 1.4kg 900
306912 |TPM- 420 24 | wmT4 ]| 54 | 165 | 178 | 79 | 86 | ER20 | M3-M16 1.6kg 1000
306914 |TPM- 432 56 | MT4 | 50 |203.5|216.5] 94.5 | 109 | ER32 | M3-M27 1.8kg 1000
306916 _ |BT30- TER16 0.7Kg 1000
306918 |BT30- TER20 0.8Kkg 1000 SR
306920 __|BT30- TER25 0.9kg 1000
306922 |BT40- TER16 1.5kg 1100
306924 BT40- TER20 1.6kg 1100
306926 |BT40- TER25 1.7Kg 1100
306928 BT50- TER16 3.0kg 1500 ADS
306930 BT50- TER20 3.2kg 1500
306932 BT50- TER25 3.5kg 1500
306934 _ |BT50- TER32 3.8kg 1500
ER
(o)A
DT24 T™A O BEX' m;g ﬁer M4,M5,M6,M8,M10,M12,M14,M16,M18,M20,M22,M24 DT24- MT1
. d-'rtier W3/16,W1/4,W5/16,W3/8,W7/16,W1/2,W5/8,W3/4,W7/8,W1" | DT24-MT2
10PCS/SET | DT24-MT4 ditler | orq/8 p11/4,pT1/2 DT24- MT3
DT24- MT5 _ditler
DT33- MT1
DT33 MO DT33-MT3 oitler | M8,M10,M12,M14,M16,M18,M20,M22,M24,M27,M30,M33,M36 | D133 vito
10PCS/ SET DT33- MT4 oitler | W5/16,W3/8,W7/16,W1/2,W5/8,W7/8,W1",W1- 1/8,W1- 1/4 DT33. MT3
- DT33- MT5 oitler | PT1/8,PT1/4,PT3/8,PT1/2,PT3/4,PTL" DT33- MT4
STANDARD EI-
DT24 ™\ O -10PCS/SET DT24 ™ 0O OWDER,JTA6+1/2,DT24- M4,M6,M8,M10,M12,M16,M16,DT24- MT1,DT24- MT2 5500
DT33 ™\ O -10PCS/SET DT33 ™ [ OWDER,JTA6+1/2,DT24- M8,M10,M12,M16,M20,M24,DT33- MT2,DT33- MT3 5500

-DT24/DT33 APER ®GLDER
- According othe apped ate aterial.the

-DT24/DT33
-DT24/DT33
-DT24/DT33

DT24/DT33
1

»C

2.DT24/33+JTAB+1/2

3.DT24/33
4.DT24/33
5.L

XpPdas

e dd

1

ize eparateiy
ith idh row

ith tandaer ullf etsr wmy anchoice ulg aeh
ril apper oider owid ed dausted he ormgue

H L

DT24/DT33 ES M RLL APPER @Q@NSISTS:
1. TAPPER GLDER(BODY) rC 1
2.DT24/DT33 TA6+1/2 elgless ril huxk
3.TAP LEEVES XPC3

4. TAP @LLETS X & P

5.ADJUSTING WENCH X»XCI

¢czs



Milling yStem

¢ FEIENAMBEBIREAE, EHBIBARE,
HETNAFFBIAMRETBIZEEA

SHAR/MEMERT, HEDHRHBE,

SN AREN, DAKERE, AFRARE, REAEARFENBR,

PO
PO

P09

2
3- P04

1]

@ Please inserts the cutting tool handle department after the cartridge, do cause the handle partinsertion
cartridge. Locks when the cutting tool please completely insert cutting tool's handle diameter part.

@ Specially in trail's situation, please confirm that beats the precision.

4 When the cutting tool clamps, the cutting tool inserts the cartridge first, turns tight with the hand, finally

uses the special spanner force to lock.

RUEEFEAA Model explanation H ! mﬂ a| |p2
5 - e - (2
* W 23 4 T a0 R It 12mm
o L BKE) 5 E<0.05MM
SK TR
HM 307100 BT30- APU8- 75 0.3~8 37 46 75 128.4 APUS 0.80 1500
307102 BT40- APU8- 85 0.3~8 37 85 150.4 APU8 1.46 1500
307104 APU13-110- 1~13 50 63 110 165.4 APU13 2.00 1200
307106 APU16- 120- 3~16 57 120 195.4 APU16 2.60 1500
SR 307108 BT50- APU13- 110 1-13 50 100 110 201.8 APUT3 4.70 1800
307110 APU16- 130- 3~16 57 130 236.8 APU16 4.80 2750
ADS Grated kyiess drill chuck
MT:
’. Length(mm)
Order Clamp Scope D |Weight i
Vounts A B Price
Number | Model No. mm inch kg
307111 | JMO68H | 0.2 8 |1/64" 5/16"| MT2 |140.5| 60.5| 37 0.45 600
ER 307112 |JMO0613H|0.2 13|1/64" 1/2"| MT2| 160 | 80 |50.5| 1.00 600
307113 |JM0613H|0.2 13| 1/64" 1/2"| MT3| 179 | 80 [50.5| 1.08 650
307114 |JMO0613H|0.2 13| 1/64" 1/2"| MT4 | 205 | 81 [50.5| 1.48 700
- 307115 |JM0616H|0.2 16| 1/64" 5/8"| MT3 | 184 | 85 | 57 1.40 650
oz 307116 |JM0616H|0.2 16| 1/64" 5/8"| MT4 | 209 | 85 | 57 1.70 700
C:
~ Length(mm
b] 6000rpm Order Clamp Scope D |Weight| _ .
13 Number [Model No. - Mounts| A | B K Price
mm inch ( ) g
307120 | JMO078H | 0.2 8 |1/64" 5/16'f C20 |120.5/60.5| 37 0.52 | 600
integrated 307121 |JMO0713H|0.2 13|1/64" 1/2"| C20 | 140 | 80 | 50.5 | 0.98 | 600
L keyless drill chuck 307122 |JMO0713H |0.2 13|1/64" 1/2"| C25 160 | 80 | 50.5 1.12 | 700
307123 |JM0713H (0.2 13|1/64" 1/2"| C32 161 | 81 | 50.5 1.37 | 800
ision | . bl 307124 |JMO0716H |0.2 16|1/64" 5/8"| C20 | 145 | 85 57 1.33 | 600
Precision Inspection Table 307125 |IJMO716H |0.2 16|1/64" 5/8"| C25 | 165 | 85 | 57 | 1.48| 700
d L — 307126 |JMO0716H |0.2 16|1/64" 5/8" C32 165 | 85 57 1.66 | 800
Model No . Precision
mm mm pl R
3 35
JM068H 6 0.05 Length(mm
8 50 Order Clamp Scope D |Weight| .
3 35 NumberModelNo. == inch | Mounts A E ( ) kg Price
JMO0610H 6 0.05
10 58 307128 | JM0613H|0.2 13|1/64" 1/2" R8 186 | 81 | 50.5 | 1.25 700
5 307129 | JM0616H|0.2 16|1/64" 5/8" R8 190 | 85 57 1.54 800
JMO0613H|__10 °° 0.05
153 75 Multi-choices of arborsspecification offerquickchange on integrated cuttingmachine.
55
JIM0616H_ 10 0.05 DRILL HLCK
16 80
A B|C|D|E|F]|G .
i & @ | order Clamp Scope Weight .
d Number Model No. Mounts| MM MM MM mm mm mm mm Price
p— ) mm inch kg
=
L] < Q¢—‘ 307130 | JMO68H | 0.2 8 |1/64" 5/16"| MT2 85 | 60.5| 36 [37.5| M6 30 10 0.37 350
s 307131 |JMO0610H|0.2 10| 1/64" 3/8" MT2 |94.5| 70 41 43 M6 34 13 0.64 350
[
B L 307132 |JM0613H|0.2 13| 1/64" 1/2" | MT3 | 107 | 80 48 |50.5| M8 38 15 0.92 350
A 307133 |JM0616H|0.2 16| 1/64" 5/8" | MT3 | 112 | 85 54 57 M8 43 16 1.26 400

I c29




DRILL CHUCK ARBOR
N?J::E;r Model & Specification| Taper D L Drill Collet Model| Price
gg;iﬁ D30'Zlo:i2 B10 |10.094 4212 J216(0.6 6 ggg
ig;ig 'le:ig B12 |12.065 4212 J2110(1 10 ggg
gg;iig '216:32 B16 |15.733 4212 J2113 1 13 zgg
28;123 D40'Zlo:;§ B10 |10.094 gg J216 0.6 6 ggg
28;123 'le:gg B12 |12.065 ;2 J2110 1 10 ggg SK
gg;izg -216:32 B16 |15.733 ;g J2113 1 13 zgg
28;12; 'le:gg B18 |17.780 ;g J2116 3 16 228
gg;izg '222:32 B22 |21.793 ;g J2120 5 20 288 HM
:8;12? 550-21?1-32 B10 |10.094 14055 1216 0.6 6 288
:8;123 -21_21-32 B12 |12.065 14055 J2110 1 10 ggg SR
:8;122 'Zli'gg B16 |15.733 14055 J2113 1 13 ggg
28;1;2 -21?1-32 B18 |17.780 14055 J2116 3 16 ggg
28;12; -zz_zl-gg B22 |21.793 16005 J2120 5 20 ;gg ADS
O -

——
= = 3 JO1 SERIES GRATEMTYPE HMORSE JACQUARD SHORT TAPER STOCK 0z
ES B JOo1 M H
— ﬁl
L1
:l’) T d | D L Check Rod E—
- i recision .
e Orde o Clamp Scope Hole Taper mm mm |mm| mm | oo Wi'gm mm | NM Prifce
- Numbler mm Number g Big Rod | Small Rod|
1
307170 0.2 3 B6 2° 51'26.7"| 6.350 | 10.000 600
e JMO13H — 24 |45.1|41.5/0.100| 3x 40 / 0.8
307171 1/64" 1/8 J10 | 4° 4924.7"| 6.350 | 11.112 600
307172 0.2 4 B10 | 2° 51'26.7"| 10.094 | 14.500 550
JIMO14H 29|60.8| 55 | 0.190| 4x 50 / 1.2
307173 164" 532" | J1 | 40 2453.1"| 9.754 | 16.669 550
307174 02 6 B10 | 2° 51'26.7| 10.094 | 14.500 400
34/70.6| 64 |0.313| 6x50 | 3x 25 3
Kevless drill chuck 307175] "MO6H M6 1ar J1 | 4° 24'53.1"| 9.754 | 16.669 400
y 307176 02 8 B12 | 2° 51'26.7"| 12.065 | 18.500 350
JMO18H 39(80.4| 73 |0.477| 8x50 | 4x 25 005 | 4
e 307177 164" 516" | 32 | 4 4011.6"| 14.109 | 22.225 350
= 307178 0.2 10 B12 | 2° 51'26.7"| 12.065 | 18.500 350
44|90.2| 82 | 0.685| 10x 75 | 5x 37.5 6
307179 MOLIOH jgan 38 | 02 | 40 4011.6"| 14,199 | 22.225 350
307180 0.2 13 B16 | 2° 51'41.0"| 15.733 | 24.000 300
49(100.6| 91 | 0.946 | 13x 100| 6x 50 12
307181 [IMOLIHI y64n 10 | 333 | 3 3813.4"| 15.850 | 25.400 300
307182 0.2 16 B18 | 2° 5141.0"| 17.780 | 32.000 350
307183|IMOLI6H a4 5igr | 36 | 2 5824.8'| 17.470 | 25.400 | O |LL2 2| 102 | 1:270| 16x 100 8x 50 14 M350
_ 307184 0.2 20 B22 | 2° 52:31.5" | 51703 | 40.500 500
307185)MO120H 1/6an /4w | 33 3 310" | 20500 | 30,056 | 20 [1315] 119 | 1,717 | 20% 125)10x 625 0.07 | 16 [ 5o,
~ b 307186 |jyo1251| 0.2 25 B22 |2° 52'31.5"| 21.793 | 40.500 | 74 |156.5| 142 | 3.430 | 25x 125|13x 625/ 0.09 | 18 | 800
J01 SERIES GRATE PTYPE H MORSE JACQUARD SHORT TAPER STOCK J03 SERIES TYPE H FEMALE THREAD STOCK
Jo1 P H Jo3 H
d 1 Dl L | Check Rod d 1oL | Check Rod :

Tapering| i i Order Clamp Scope Weight Precision| A
ord Clamp Scope mm mm  |mm| mm | mm [Weight recisign : PR mm mm|mm| mm | mm Price
Number | Mol | mm | ok | T k9| Big Rod| smalrod| mm | "M Price | Number| Model| " mm k9| big rod | smairoa | mm_|MM
307187 02 6 B10 | 2° 5126.7"| 10.094 | 14.500 350 | | 307200 02 6 M10x 1 380
307188 | Y0161 764" wa'| 31 | 4° 24'53.1" | 9.754 | 16.669 | 34|706| 64 0.313 6x50 | 3x 25 3 [as0 | [a07202 | "M Uear war | mimzaune| 1| 34[70-6) 64) 0313 6x50 | x2S D
307189 02 8 B12 | 2° 5126.7"| 12.065 | 18.500 320 | (307204 02 8 M10x 1 350
307190 | J018L [T/6a” sim6| g2 | 4° 4011.6"| 14.199 | 22.025 | 39|80-4| 73 0,477 8x 50 | 4x25 4 7820 | (o701 9381 e e ToaainE| 14 [39[804| 73| 0.477] Bxs0 | wx2s C
307191 Jo110L 0.2 10 B12 | 2° 51'26.7"| 12.065 | 18.500 0.12 320 -

307192 4™ 38" J2 |4 40716 | 14199 | 22.005 | 44902 82 0686 10x75 ) 5375|015 6 |70 | | 307208 | ) 0.2 20 | Miox1 | b oo ool cee | 1ok 7s | sxars oz0 | 8 22
307193 301131 0.2 13 B16 |2° 51'41.0"| 15.733 | 24.000 49 1100.6 91 |0.944| 13x 100| 6x 50 12 300 307210 1/64" 3/8" | 3/8"-24UNF B 350
307194 164" 1/2"] 333 | 3 3813.4"| 15.850 | 25.400 : : 300 | (307212 02 13 | mizx 1.25 320
307195 0.2 16 B18 | 2° 51'41.0"| 17.780 | 32.000 320 30313 o 12 - 16| 49]100.6| 91| 0.944 | 13x 100 | 6x50 12
307196 JO116L| 164" 5/8 36 27 5824.8"| 17.170 | 25.400 54 (112.2/ 102 |1.268| 16x 100| 8x 50 14 320 307214 1/64" 172’ 1/2"-20UNF 320
307197 0.2 20 B22 |2° 52'31.5"| 21.793 | 40.500 400 307216 0.2 16 M16x 1.5 350

30316 18 | 54 [112.2/ 102| 1.268 | 16x 100 | 8x50 14
307198 Jo1204 1/64" 3/4 J3 3° 31.0 20.599 | 30.956 59 |131.5 119 [1.716) 20x 125| 10x 625 0.16) 16 400 307218 1/64" 5/8" | 5/8"-16UN 350
307199 [J0125H 0.2 25 B22 |2° 52'31.5"| 21.793| 40.500 | 74 |156.5 142 (3.430| 25x 125| 13x 62,5 0.20| 18 600

¢c3o



Milling yStem

FEATURES:
*
* C NC
*Suitable orf emium heavy uty riting se. - J21 SERIES TYPE L MORSE JACQUARD SHORT TAPER STOCK
*For ilimg awhine,lathe,drill abhine CNC&wood osking aunhine. 321 H
SK *High peed ritling an eb epfomed orf ogsessing igh utting omer.
J31 SERIES TYPE H FEMALE THREAD STOCK - do | D1 | L1 ;
Orde|r Clamp Scope | Tapering mm | mm | mm | Weight | price
Model 1
J31 H Number mm Hole Number 9
HM D L1 _ 307240 J216L 0.5 6 B10 10.094 30 19 | 0125 250
Or d ¢ froger | PSP\ wounts | mm | mm | VR Prie 307242 1/64" 1/4" 1 |9.754 ' 250
Numble r 307244 1 10 B12 |12.065 250
307220 05 6 | MI10x10 200 J2110L 42.5| 70 | 0.335
SR 307222| 2" [Weaw w/a" | ais-2aunF | P 49 0.125 200 307246 1/32" 3/8 J2 14.199 250
307224 T 10 | wiorio 200 307248| | 113 BI6 115733 | | | 250
307226 | 7210 [(1a2r st | arerzaunk | 22| 70| 0338 200 307250 1/32" 1/2" J6 17.170 250
307228 1 13 M12x 1.25 200 307252 3 16 B18 17.780 280
J2116L 57 97 | 0.750
307230 P [ws2r 12 | wzrzoune | o0 | %0 | 008 200 307254 1/8" 5/8" J3 20.599 280
ADS 307232 Ja116L 3 16 M16x 1.5 o o7 0.750 220 307256 32120H 5 20 B22 21.793 65 | 110 | 1.400 300
307234 1/8" 5/8" | 5/8"-16UN ‘ 220 307258 3/16" 3/4" J3 20.599 ' 300
Spanner drill chuck
L
- =
I " / [l
Y
J31 SERIES TYPE L FEMALE THREAD STOCK 1 u
D | L1 )
Weight i
Nourr:beerr Model Clamrpr)]gcope Mounts mm | mm kg Pri
9 . - D L | W .
05 6 Miox 1 Price | Model & Specification Price
307260 ;3161 : 0x 30 | 49 | 0.115 | 290 307900|  030-XS10-60 [10 | 60| - | 400
307262 1/64" 1/4" 3/8"-24UNF 300 307902 -XS16-60 |16 | 60| 4 400
307264 1 10 M10x 1 300 307904 -XS22-60 [22 | 60| 6 400
J3110L " " ” 34 | 60 | 0.160 307906 0 40-XS16-75 75 400
307266 1/32" 3/8 3/8"-24UNF 300 307908 105 16 105 4 200
307268 1.5 13 M12x 1.25 300 307910 -XS22-75 75 400
J3113L 43 75 0.305
307270 116" 1/2" | 1/2"-20UNF 300 307912 105 122 108 6 4%
307272 3 16 M16x 1.5 400 307916 -XS27-75 75 400
J3116L 53 88 0.625
307274 1/8" 5/8" 5/8"-16UN 400 307918 -105 |27 [105| 6 400
307920 -120 120 450
307922 -SX332-60 32 60 8 450
307924 -90 90 500
21 L sorszs | TSONSIESO | | a0, | a0o
J21 SERIES TYPE L MORSE JACQUARD SHORT TAPER STOCK 307930 XS22-90 90 800
307932 -135 |22 [135| 6 900
D L1 307934 -150 150 1000
Tapering] do Weight . 307936 -XS27-90 90 800
Or dejr Model Clamr?msq‘mpe Hole | mm | mm  mm kg A © 307938 -135 |27 [135] 6 [ 900
Number Number 307940 -150 150 1000
307942 XS32-75 75 800
05 6 .
307280 5516, B10 110.0941 50 | 49 |0.125] %0 307944 90 135 | 90/ g | 900
307282 1/64" 1/4" J1 9.754 300 307946 -120 120 950
307948 -135 135 1000
307284 32110L 1 10 B12 | 12.065 34 | 60 0.160 300 307950 -SX40-75 75 800
307286 1/32" 3/8" J2 14.199 300 307952 -90 40 90 10 900
307954 -120 120 950
307288 J12113L 1.5 13 B16 15.733 43 75 10.305 300 307956 -135 135 1000
307290 1/16" 1/2" J33 17.170 300 307958 | XT60-XS32-135 |32 |135| 8 3000
307292 200 307960 -XS40-135 |40 [135]10] 3000
J2116L| 3 16 B18 |17.780 | 53 | 88 |0.625 307962 -X$50-150 |50 [ 150112 ] 3000
307294 400 g

Jcs1



SK
307370 R8-JT1 R8 | JT1
307372 R8-JT2 R8 | JT2
307374 R8-JT3 R8 JT3 . HM
307300 MT1-JTO MT1 JTO 307376 R8 JT4 R8 T4 e onEe
307378 R8-JT5 R8 | JT5
307302 MT1-JT1 MT1 JT1 307380 o RS 1Te SR
307304 ARSI MT1 | JT2 307382 | R8-JT33 | Rs | JT33
307306 MT1-JT3 MT1 JT3
307308 MT1-JT4 MT1 JT4
307310 MT1-JT5 MT1 JT5 ADS
307312 MT1-JT6 MT1 JT6
307314 MT1-JT33 MT1 JT33 -
307316 MT2-JTO MT2 JTO Dﬁ\
307318 MT2-JT1 MT2 JT1 I
307320 MT2-JT2 MT2 JT2 U
307322 MT2-JT3 MT2 JT3 L \E ER
307324 MT2-JT4 MT2 JT4 E ; l2
307326 MT2-JT5 MT2 JT5 .
307328 MT2-JT6 MT2 JT6 oz
307330 MT2-JT33 MT2 JT33
307332 MT3-JT1 MT3 JT1 307400 | C20-JT6 | C20 | JT6 80 55 25
307334 MT3-JT2 MT3 JT2 307402 | Cc32-JT3 | c32 | JT3 85 70 25
307336 MT3-JT3 MT3 JT3 307404 | Cc32-JT6 | Cc32 | JT6 105.95 70 35.95
307338 MT3-JT4 MT3 JT4 307406 | C42-JT3 | c42| JT3 125 100 25
307340 MT3-JT5 MT3 JT5 307408 | c42-3T5 | c42 | JT5 135.95 100 | 35.95
307342 MT3-JT6 MT3 JT6
307344 MT3-JT33 MT3 JT33
307346 MT4-JT2 MT4 JT2
307348 MT4-JT3 MT4 JT3 D
307350 | MT4-JT4 MT4 | JT4 m
307352 MT4-JT5 MT4 JT5 o
307354 MT4-JT6 MT4 JT6 T
307356 MT4-JT33 MT4 JT33 7‘*
307358 | MT5-JT2 MT5 | JT2 . =
307360 MT5-JT3 MT5 JT3
307362 MT5-JT4 MT5 JT4
307364 MT5-JT5 MT5 JT5
307366 MT5- 376 MT5 176 307500 | C32-MT1 | C32 | mt1 | 61| 56 35
307368 MT5- 3733 VTS 1733 307502 | C32-MT2 | C32 | MT2| 73| 65 37
307504 | C32-MT3 | C32 | MT3| 92| 72 | 20 37
307506 | C42-MT1 | C42 | MT1| 61| 56 47
307508 | C42-MT2 | C42 | MT2| 74| 66 47
307510 | C42-MT3 | C42 | MT3| 92| 75 | 17 47

¢caz2



Milling yStem

S HESTTIRERIIM L)

@ Face milling cutter shank special T

HEEHA Model explanation k1
P02 7 N
P03- P04 -] ©
P09 7 “
7
SK : D1 hé | I _l2 ka2
o DIN69871- AD L 4-M16*2.OF
: G6.3 ®00RPM (4-M12*1.75P)
HM
SR 307600 | BT30- FMA25.4- 45 113.4 | 45 1.10kg 605
307602 BT30- FMA25.4- 60 128.4 | 60 20 0 | 234 315 4521 9.52 1.30kg 635
307604 | BT30- FMA31.75- 45 115.4 | 45 22 | 60 [31.75| 41 | 6.7 | 12.7 1.35kg 705
307606 | BT40- FMA25.4- 45 130.4 | 45 1.80kg 755
ADS 307608 | BT40- FMA25.4- 60 145.4 | 60 2.00kg 805
307610 | BT40- FMA25.4- 90 175.4 | 90 20 | 50 | 2541 31.5) 4.521 9.52 2.60kg 945
307612 | BT40- FMA25.4- 105 190.4 | 105 2.70kg 990
307614 | BT40- FMA31.75- 45 132.4 | 45 2.00kg 795
307616 | BT40- FMA31.75- 75 162.4 | 75 22 | 60 |31.75| 41 | 6.7 | 12.7 2.70kg 915
307618 | BT40- FMA31.75- 90 177.4 | 90 2.90kg 970
ER 307620 | BT40- FMA38.10- 60 1504 | 60 | 25 | 75 | 38.1| 44.5| 8.87|15.87| 1 | 2.80kg | 1155
307622 | BT40- FMA50.80- 60 161.4 | 60 36 | 98 | 50.8| 65 | 9.75|19.05 4.00kg | 1500
07 307624 | BT50- FMA25.4- 45 166.8 | 45 4.40kg | 1545
307626 | BT50- FMA25.4- 90 211.8 | 90 20 | 50 | 25.4| 315 452| 9.52 5.10kg | 1845
307628 | BT50- FMA25.4- 150 271.8 | 150 6.10kg | 1905
307630 | BT50- FMA31.75- 45 168.8 | 45 6.2 4.50kg | 1605
307632 | BT50- FMA31.75- 75 198.8 | 75 22 | 60 |31.75| 41 12.7 5.30kg | 1805
307634 | BT50- FMA31.75- 105 228.8 | 105 6.7 5.70kg | 2005
307636 | BT50- FMA38.10- 45 171.8 | 45 4.80kg | 1670
307638 | BT50- FMA38.10- 75 210.8 | 75 25 | 80 | 38.1) 44.5) 88711587 6.00kg | 1950
307640 | BT50- FMA50.80- 45 182.8 | 45 5.70kg | 1855
307642 | BT50- FMA50.80- 75 212.8 | 75 3 | 98 | 50.8| 65 | 9.7519.05 6.80kg | 2060
307644 | BT50- FMA47.62- 75 208.8 | 75 32 |128.75/47.62 -| 12.5| 25.4 2 | 7.90kg | 2875
307646 | BT50- FMA25.4- 125BG 246.8 | 125 48 50 5.3kg 1795
307648 | BT50- FMA25.4- 150BG 271.8 | 150 6.4kg 1910
307650 | BT50- FMA25.4- 200BG 321.8 | 200 7.5kg 2125
307652 | BT50- FMA25.4- 250BG 371.8 | 250 | 20 25.4| 31.5| g3 | 4.25| 952 | g6kg 2450
307654 | BT50- FMA25.4- 300BG 421.8 | 300 58 9.7kg 2615
307656 | BT50- FMA25.4- 350BG 471.8 | 350 10.8kg | 2805
307658 | BT50- FMA25.4- 400BG 521.8 | 400 66 11.9kg | 3155
307660 | BT50- FMA31.75- 125BG 248.8 | 125 5.6kg 1925
307662 | BT50- FMA31.75- 150BG 273.8 | 150 6.3kg 2095
307664 | BT50- FMA31.75- 175BG 298.8 | 175 8.3kg 2405
307666 | BT50- FMA31.75- 200BG 323.8 | 200 | 22 70 [31.75| 41 | 75 | 6.7 | 12.7 | 9.1kg 2425
307668 | BT50- FMA31.75- 250BG 373.8 | 250 10.6kg | 2715
307670 | BT50- FMA31.75- 300BG 423.8 | 300 12.1kg | 3035
307672 | BT50- FMA31.75- 350BG 473.8 | 350 13.6kg | 3280

Jcas



S HESETTIRFERIIM

@ Face milling cutter shank special

BB Model explanation

FETHRE S
R

(eTa0}- [ 25.4)- 50
W e mR R
W 5 KRR
71t

BT M

k1

Finishing Roughing

T
Z

5 B

ESIES
P03- P04 —‘ SK
P09
I1 I2 k2
e D1 h6 -
o - L | 4-M16%2.0F HM
® DIN69871- AD (4-M12*1.75P)
° G6.3  ®O00RPM
) SR
307700 | BT30- FMB22- 45 115.4| 45 0.85kg 560 ADS
307702 | BT30- FMB22- 60 127.4| 60 19 48 | 22 26 | 48 | 10 1.25Kkg 555
307704 | BT30- FMB27- 45 113.4| 45 1.20kg 735
307706 | BT30- FMB27- 60 128.4| 60 20 60 | 27 |815] 58 | 12 1.35kg 705
307708 | BT30- FMB32- 45 115.4| 45 22 78 | 32 41 | 6.8 | 14 1.35kg 890
307710 | BT40- FMB22- 45 129.4| 45 1.45kg 760
307712 | BT40- FMB22- 60 144.4| 60 19 48 | 22 26 | 4.8 | 10 1.70kg 750
307714 | BT40- FMB22- 100 184.4 | 100 2.20kg 895
307716 | BT40- FMB27- 45 130.4| 45 1.60kg 725 ER
307718 | BT40- FMB27- 60 145.4| 60 20 60 | 27 |315| 58 | 12 2.00kg 785
307720 | BT40- FMB27- 90 175.4| 90 2.30kg 850
307722 | BT40- FMB27- 105 190.4| 105 2.50kg 925 oy4
307724 | BT40- FMB32- 45 132.4| 45 1.75kg 885
307726 | BT40- FMB32- 60 147.4| 60 22 8| 32 41 | 6.8 | 14 2.10kg 955
307728 | BT40- FMB40- 60 150.4 | 60 25 80 40 48 | 8.3 16 2.80kg 1065
307730 | BT50- FMB22- 45 165.8 | 45 1 4.50kg 1480
307732 | BT50- FMB22- 90 210.8] 90 5.10kg 1590
307734 | BT50- FMB22- 150 270.8| 150 | 19 48 | 22 26 | 4.8 10 6.80kg 1825
307736 | BT50- FMB22- 200 320.8 | 200 7.00kg 1945
307738 | BT50- FMB22- 250 370.8 | 250 8.00kg 2215
307740 | BT50- FMB27-50 171.8| 50 4.60kg 1520
307742 | BT50- FMB27- 90 211.8] 90 5.40kg 1675
307744 | BT50- FMB27- 150 271.8] 150 | 20 60 | 27 |315]| 5.8 | 12 7.50kg 1965
307746 | BT50- FMB27- 200 321.8[ 200 9.50kg 2260
307748 | BT50- FMB27- 250 371.8| 250 11.0kg 2510
307750 | BT50- FMB32- 50 173.8| 50 5.70kg 1660
307752 | BT50- FMB32- 90 213.8] 90 22 78 | 32 411 68| 14 5.80kg 1815
307754 | BT50- FMB40- 50 176.8| 50 5.2kg 1635
307756 | BT50- FMB40- 90 216.8| 90 25 80 | 40 48 | 8.3 | 16 6.00kg 1870
307758 | BT50- FMB40- 105 231.8] 105 7.20kg 2085
307760
307762 | BT50- FS40F- 75 202.8| 75 26 110 | 40 - 8.3 16 2 6.00kg 2355
307764 | BT50- FS60F- 75 201.8] 75 25 | 138 [ 60 - | 125|254 8.50kg 3345
307766 | BT40- FMB22- 150BG | 233.4| 150 3.1kg 1020
307768 | BT40- FMB22- 200BG | 283.4| 200 | 18 48 51 4.0kg 1250
307770 | BT40- FMB22-250BG | 333.4| 250 4.9kg 1305
307772 | BT50- FMB22- 150BG | 271.8 | 150 6.8kg 1825
307774 | BT50- FMB22-200BG | 321.8| 200 8.4kg 1970
307776 | BT50- FMB22-250BG | 371.8 | 250 22 [31.75| 4.25 | 9.52 9.4kg 2240
307778 | BT50- FMB22- 300BG | 421.8| 300 10.4kg 2360
307780 | BT50- FMB22-350BG | 471.8| 350 | 20 | 58 62.5 11.4kg 2505
307782 | BT50- FMB22- 400BG | 521.8 | 400 12.4kg 2740
307784 | BT50- FMB22- 450BG | 571.8 | 450 13.4kg 2895
307786 | BT50- FMB22-500BG | 621.8| 500 14.4kg 3110

. C34



Milling yStem

® D1=

SK P02
P03- P04
P09
HM , ‘mm
SR
307800 NT30- FMA25.40 46 | 139.4 20 | 45 | 952 0.55kg 610
307802 NT30- FMA31.75 60 |141.4 22 | 57 | 12.7 |MI2MIZ'LTSP)[ g 25k g 725
307804 NT30- FMA38.10 70 | 148.9 25 | 6.87 | 15.87 | A04(1/2-12) | 5 10kg | 915
ADS 307806 NT40- FMA25.40 63 |164.4| 35 20 | 45 | 9.52 1.45kg 795
307808 NT40- FMA31.75 63 | 166.4 22 | 5.7 | 12.7 1.75kg 835
M16(M16*2.0P)
307810 NT40- FMA38.10 70 |173.4 25 | 6.87 | 15.87 ] 2.00kg 970
307812 NT40- FMA50.80 98 | 174.9 36 | 975 | 19.05| "06(/E-11) 2.55kg | 1390
307814 NT40- FMA47.62 128.75| 149.4 | 24 32 12.5 | 25.4 2.90kg 2050
307816 NT50- FMA25.40 50 |182.8 20 | 45 | 952 3.30kg | 1580
ER 307818 NT50- FMA31.75 60 |1848| 22 | 57 | 12.7 3.40kg | 1605
307820 NT50- FMA38.10 70 | 192.3 25 | 6.87 | 15.87 |[M24(M24*3.0P)| 3 60kg | 1640
307822 NT50- FMA50.80 90 | 193.3 36 | 9.75 | 19.05| A07(1"-8) 3.90kg 1730
oz 307824 NT50- FMA47.62 128.75| 157.8 | 24 32 | 125 | 254 4.90kg | 2215
307826 NT30- FMB22mm 42 | 136.4 19 4 10 0.67kg 615
307828 NT30- FMB27mm 60 | 139.4 20 5 12 |M12(M12*1.75P)| 1.00kg 720
307830 NT30- FMB32mm 65 |141.4 22 6 14 | A04(1/2-12) | 1.20kg 805
307832 NT30- FMB40mm 80 |1489| 25 7 16 1.40kg 980
307834 NT40- FMB22mm 48 | 163.4 19 4 10 1.25kg 770
307836 NT40- FMB27mm 58 | 166.4 20 5 12 | M16(M16+2.0P) | 1.45kg 795
307838 NT40- FMB32mm 65 | 168.4 22 6 14 | aos(s/™11) | 1.70kg 885
307840 NT40- FMB40mm 80 |175.9 25 7 16 2.50kg | 1115
307842 NT50- FMB22mm 48 | 206.8 19 4 10 3.50kg | 1580
307844 NT50- FMB27mm 58 |207.8 20 5 12 | \v24(M24+3.0p) | 3:90kg | 1610
307846 NT50- FMB32mm 65 |214.3| 4° 22 | 6 14 A07(1"-g) | 4-00kg | 1635
307848 NT50- FMB40mm 80 |217.3 25 7 16 4.83kg | 1705

Bcss



® D1

h6

G6.3

BHOORPM

Q
P03- P04 ‘ I1 | l2 | |3 | k2|
P09 | |
307900 HSK40A- FMB16- 50 87 17 - - 40 3.8 8 0.7kg 1169
307902 HSK40A- FMB22- 60 99 19 14 26 50 4.8 10 0.8kg 1400
307904 HSK40A- FMB27- 60 101 21 16 31.5 60 5.8 12 1.0kg 1431
307906 HSK40A- FMB32- 60 104 24 16 41 78 6.8 14 1.1kg 1975
307908 HSK50A- FMB16- 50 92 17 - - 40 3.8 8 1.1kg 1350
307910 HSK50A- FMB22- 60 104 19 14 26 50 4.8 10 1.2kg 1406
307912 HSK50A- FMB27- 60 106 21 16 31.5 60 5.8 12 1.3kg 1606
307914 HSK50A- FMB32- 60 109 24 16 41 78 6.8 14 1.5kg 2025
307916 HSK63A- FMB16- 50 99 17 - - 40 3.8 8 1.2kg 1544
307918 HSK63A- FMB22- 50 101 19 14 26 50 4.8 10 1.3kg 1581
307920 HSK63A- FMB27- 60 113 21 16 31.5 60 5.8 12 1.5kg 1681
307922 HSK63A- FMB32- 60 116 24 16 41 78 6.8 14 1.6kg 2106
307924 HSK63A- FMB40- 60 119 25 20.5 48 89 8.3 16 2.1kg 2306
307926 HSK100A- FMB22- 50 119 19 14 26 50 4.8 10 2.7kg 3194
307928 HSK100A- FMB27- 50 121 21 16 31.5 60 5.8 12 2.9kg 3231
307930 HSK100A- FMB32- 50 124 24 16 41 78 6.8 14 3.0kg 3325
307932 HSK100A- FMB40- 60 137 25 20.5 48 89 8.3 16 4.0kg 3563
307934 HSK100A- FMB50- 70 150 30 25 68 120 9.7 19 5.1kg 5131
307936 HSK100A- FMB60- 70 160 40 - - 129 12.5 25.4 5.5kg 5469
® D1 hé
® 7/24 AT3
° G6.3 ®OORPM
)
d3 ki
iy
3
............................ = a2
L Lt El'é
308000 | DAT30- FMB22-35 | 101.8 [19 | 14 | 26 | 45 [ 4.8 | 10 1.00kg 625
308002 [ DAT30- FMB27-55 | 122.8 [20 | 16 |31.5| 58 [ 5.8 [ 12 1.05kg 675
308004 | DAT40- FMB22-35 | 122.4 [19 | 14 | 26 | 48 [ 4.8 | 10 1.20kg 725
308006 | DAT40- FMB27-60 | 148.4 [20 | 16 |31.5| 58 [ 5.8 [ 12 1.80kg 795
308008 | DAT40- FMB32-60 | 150.4 [22 | 16 | 41 | 66 [ 6.8 | 14 2.30kg 875
308010 | DAT40- FMB40-60 | 153.4 [25 [20.5| 48 | 80 | 8.3 16 | 1 2.80kg 1030
308012 | DAT50- FMB22-35 |155.75[(19 | 14 | 26 | 48 [ 4.8 | 10 3.40kg 1315
308014 | DAT50- FMB27-35 |156.75[(20 | 16 |31.5| 58 [ 5.8 | 12 3.5kg 1365
308016 | DAT50- FMB32-35 |158.75[22 | 16 | 41 | 66 [ 6.8 | 14 3.70kg 1380
308018 [ DAT50- FMB40-50 |189.75[25 [20.5| 48 | 80 [ 8.3 | 16 4.70kg 1490
308020 [ DAT40- FMB50-60 |191.75(30 | 25 | 68 | 95 [ 9.7 | 19 5.80kg 1725
308022 [ DAT40- FMB40F- 60 | 158.4 [30 | 66.7 | M12| 89 [ 8.3 [15.9 2.90kg 1775
308024 [ DAT50- FMB40F- 60 | 201.75[30 | 66.7 | M12| 89 | 8.3 [15.9] 2 5.50kg 2025
308026 [ DAT50- FMB40F- 70 | 211.75[ 40 [101.6] M16| 129 [12.5[25.4 5.70kg 2310
308028 | DAT40- FS40- 60 154.4 [26 | 66.7 | 50 [110[ 8.3 ] 16 3 3.20kg 1945
308030 [ DAT50- FS40- 70 197.75|26 [ 66.7 | 50 |110] 8.3 ] 16 5.70kg 2120
308032 | DAT50- FS60- 70 196.75[ 25 [101.6] M16] 140]12.5]25.4] 2 5.50kg 3265

SK

HM

SR

ADS

ER

0oz

¢css



Milling yStem

N
h’ WAL

Roughing Endprocessing  Sioot plunge miling

4 When installs the cutting tool, the flat tail direction and

e HTIAM EEﬁﬁ]ﬁﬂﬁﬂﬁﬁﬁA narﬂl the hilt hole alignment insertion, the cutting tool with
Fﬂiﬂ&-}, Eiﬁiﬁiﬁﬂiﬂﬁ’&;ﬂﬂﬂ’ the copper clock, layer on layer raps puller bolt part
’ N . " °© several upwardly then.
0@73553, ﬁﬁ_ﬁﬂ.lﬂaﬂm, Hﬁ?ﬁii’ EDHEO 4 When unloads the cutting tool, aims at the flat hole the symbol,
ﬁﬁ%ﬁ;’i%*ii&ﬂimﬂﬂ*o with the clock sub-rap, unloads the cutting tool.

By now please note do not let the cutting tool fly

BUESAA Model explanation

L
[BT40}-[MTA][1]-[45] D
W ERER AR
BABEAS
P03- P04 s —~ )
SK P09 I |/éél/’ | ﬁz d1
° 0.015mm %
HM ® ‘ L1
SR
308100 BT30- MTA1- 45 93.4 45 25 12,065 1 0.55kg 390
308102 BT30- MTA1- 105 153.4 105 : 2 0.80kg 485
308104 BT30- MTA2- 60 108.4 60 32 1778 1 0.60kg 405
ADS 308106 BT30- MTA2- 120 168.4 120 ) 2 0.90kg 515
308108 BT30- MTA3- 80 128.4 80 40 23.825 1 0.80kg 465
308110 BT40- MTA1- 45 110.4 45 25 12.065 1 1.05kg 540
308112 BT40- MTA1- 120 185.4 120 ) 2 1.40kg 745
308114 BT40- MTA2- 50 115.4 50 32 1778 1 1.10kg 555
308116 BT40- MTA2- 120 185.4 120 ) 2 1.80kg 790
308118 BT40- MTA3- 70 135.4 70 40 23 825 1 1.20kg 590
308120 BT40- MTA3- 135 200.4 135 ’ 2 1.90kg 815
ER 308122 BT40- MTA4- 95 160.4 95 48 31267 1 1.40kg 685
308124 BT40- MTA4- 165 230.4 165 ' 2 2.50kg 970
308126 BT50- MTA1- 45 146.8 45 1 3.80kg 1320
308128 BT50- MTA1- 120 221.8 120 25 12.065 2 4.30kg 1475
0z 308130 BT50- MTA1- 180 281.8 180 2 5.00kg 1630
308132 BT50- MTA2- 60 161.8 60 1 4.00kg 1345
308134 BT50- MTA2- 135 236.8 135 32 17.78 2 4.70kg 1515
308136 BT50- MTA2- 180 281.8 180 2 5.00kg 1640
308138 BT50- MTA3- 65 166.8 65 1 3.90kg 1375
308140 BT50- MTA3- 150 251.8 150 40 23.825 2 5.00kg 1600
308142 BT50- MTA3- 180 281.8 180 2 5.50kg 1735
308144 BT50- MTA4- 95 196.8 95 48 31267 1 4.20kg 1465
308146 BT50- MTA4- 180 281.8 180 : 2 5.50kg 1775
308148 BT50- MTAS5- 105 206.8 105 63 44.399 1 4.30kg 1655
o
® 0.005mm
® MTA=TANG =DIN 2B-B
® viTB= =DIN 2B-A
o
, mm

P03- P04 308200 | NT30- MTA2|123.9| 55.5 | 17.78 | 32 |M12(M12*1.75P)| 0.50kg| 520

308202 | NT30- MTA3| 142.4| 74 |23.825 | 40 | A04(1/2"-12) [0.55kg| 565
308204 | NT40-MTA2[118.4| 25 | 17.78 | 32 0.80kg| 605
308206 | NT40- MTA3| 140.4| 47 | 13.825 | 40 |M16(M16*2.0P) 5 85kg[ 665
308208 | NT40- MTA4| 175.4| 82 |31.267 | 48 | A06(5/8"-11) |1.25kg| 720
308210 | NT40- MTA5| 263.4| 170 | 44.399 | 63 1.45kg| 920
308212 | NT50- MTA2| 146.8] 20 | 17.78 | 32 2.80kg| 1145
308214 | NT50- MTA3| 156.8| 30 | 13.825 | 40 |M24(M24*3.0P) [2.90kg| 1130
308216 | NT50- MTA4| 186.8| 60 | 31.267 | 48 A07(1"-8) | 3:00kg| 1290
308218 | NT50- MTAS5] 209.8] 86.2 | 44.399 | 63 3.10kg| 1335




P03- P04

P09 Z SK
0.015mm
HM
SR
308300 DAT30- MTA1- 50 97.8 56 25 12.065 0.55kg 495
308302 DAT30- MTA2- 60 117.8 67 32 17.78 0.80kg 510
308304 DAT30- MTA3-75 122.8 84 40 23.825 1.00kg 535
308306 DAT40- MTAL- 50 118.4 56 25 12.065 1.20kg 640
308308 DAT40- MTA2- 50 118.4 67 32 17.78 1.00kg 610 ADS
308310 DAT40- MTA3- 70 138.4 84 40 23.825 1.10kg 645
308312 DAT40- MTA4- 95 163.4 107 48 31.627 1.35kg 685
308314 DAT50- MTAL- 45 146.75 56 25 12.065 3.00kg 1190
308316 DAT50- MTA2- 60 161.75 67 32 17.78 3.10kg 1230
308318 DAT50- MTA3- 65 166.75 84 40 23.825 3.20kg 1550
308320 DAT50- MTA4- 95 196.75 107 48 31.627 3.40kg 1335
308322 DAT50- MTA5- 105 206.75 133 63 44.399 3.60kg 1465
ER
o
° 0.005mm oz
® MTA=TANG =DIN 2B-B
o
| 13 |
WI_I/ 77
D = S N
W e sl
K
| 12
11
P0O3- P04 o
P09
308400 HSK50A- MTA1- 100 125 74 56 25 | 12.065 | 5.2 1.5kg 1406
308402 HSK50A- MTA2- 120 145 94 67 32 17.78 6.3 1.8kg 1475
308404 HSK50A- MTA3- 140 165 114 84 40 | 23.825 | 7.9 1.9kg 1550
308406 HSK63A- MTAL- 100 132 74 56 25 | 12.065 | 5.2 1.9kg 1675
308408 HSK63A- MTA2- 120 152 94 67 32 17.78 6.3 2.0kg 1756
308410 HSK63A- MTA3- 140 172 114 84 40 | 23.825 | 7.9 2.2kg 1869
308412 HSK63A- MTA4- 160 192 134 107 48 | 31.627 | 11.9 2.5kg 2019
308414 HSK100A- MTAL- 110 160 81 56 25 | 12.065 | 5.2 3.4kg 3475
308416 HSK100A- MTA2- 120 170 91 67 32 17.78 6.3 3.8kg 3600
308418 HSK100A- MTA3- 150 200 121 84 40 | 23.825 | 7.9 4.0kg 3981
308420 HSK100A- MTA4- 170 220 141 107 48 | 31.627 | 11.9 4.6kg 4256
308422 HSK100A- MTAS5- 200 250 171 135 63 | 44.399 | 15.9 5.2kg 4700

@css



SK

HM

SR

ADS

ER

0oz

I c39

Milling yStem

308500 MT1-MT2 MT1 MT2 89 75
308502 MT1-MT3 MT1 MT3 100 94
308504 MT2-MT3 MT2 MT3 112 94
308506 MT1-MT4 MT1 MT4 124 117.5
308508 MT2- MT4 MT2 MT4 124 117.5
308510 MT3-MT4 MT3 MT4 140 117.5
308512 MT1-MT5 MT1 MT5 156 149
308514 MT2- MT5 MT2 MT5 156 149
308516 MT3-MT5 MT3 MT5 156 149
308518 MT4-MT5 MT4 MT5 167 149
308520 MT4-MT6 MT4 MT6 220 210
308522 MT5- MT6 MT5 MT6 224 210
| [ e—— =
/
T/
L
-
308600 | R8-MT1 | 124
308602 | R8-MT2 | 136.5 .
308602 | Re-mMT3 | 150 32 24.1 | 7/16"UNF20
308606 | R8-MT4 | 245
308650 MT2-5 M.T.#2 3#4#5# 380mm 1.3kg [390x45x37mm [ 410x200x225mm




¢ RS,
& I E T AEE,

#® When the cutting tool is installing, please lock the gib screw which the hilt upper garment knife uses.
® When disassembles the cutting tool, relaxes the tautness bolt first 2-3, then in the hilt head part with
the clock sub-rap, after relaxing the contact face, then turns the loose bolt, takes out the cutting tool.

AHETIWMER T ARBIRET,
TR RMET2-30, REETIHIFESES
AEFHE, NBEHEE, FHREWRT, REIA,

—
e

. WAL

Foughing Ena processing

Sioot plunge miling

DIN228 SK
P03- P04
P09
FIGESBA Model explanation d‘ d l HM
BT40]-[MTB|[1 |-[45] 2
W TR s R
i l BABEAT
. SRR SR
o 0.015mm
Y ADS
93.4 45 25 | 12.065 Me(Me*1.0P) 0.55k 405
308700 BT30- MTB1- 45 ) . AOL(L/4™20) .55kg -
108.4 60 32 17.78 M10(M1071.5P) 0.60k 535
308702 - - ) . )
BT30- MTB2- 60 A02(3/8"- 16) 9
30870 110.4 45 25 | 12.065 M6(M671.0P) 1.05k 945 oz
704 - - ) . )
BT40- MTB1- 45 AOL(L/4"- 20) g
110.4 45 32 17.78 M10(M101.5P) 1.85k 695
308706 - - : . )
BT40- MTB2- 45 A02(3/8"- 16) 9
M10(M10*1.5P) » 20K 1000
308708 - . _ '
BT40- MTB2- 185 250.4 185 32 17078 A02(3/8"- 16) g
308710 BT40- MTB3- 75 140.4 75 1.30kg 700
308712 BT40- MTB3- 90 155.4 90 20 | 23508 M12(M12*1.75P) 1.40kg 900
308714 BT40- MTB3- 120 185.4 120 ' A04(L/2"- 12) 1.80kg 1100
308716 BT40- MTB3- 180 245.4 180 2.40kg 1300
308718 BT40- MTB4- 100 165.4 100 1.60kg 900
308720 BT40- MTB4- 120 185.4 | 120 48 | 31.267 Eﬁiggyéf*figp) 1.80kg | 1100
308722 BT40- MTB4- 180 245.4 180 2.60kg 1300
M6(M6*1.0P)
308724 BT50- MTB1- 45 146.8 45 25 |12.065 3.80kg 1500
A01(1/4"- 20)
M10(M10*1.5P)
308726 BT50- MTB2- 45 146.8 45 32 17.78 3.90kg 2100
A02(3/8"- 16)
M12(M12*1.75P)
308728 BT50- MTB3- 60 161.8 60 40 | 23.825 3.90kg 2400
A04(1/2"- 12)
M16(M16*2.0P)
308730 BT50- MTB4- 75 176.8 75 48 31.267 4.20kg 2700
A06(5/8"- 11)
M24(M24*3.0P)
308732 BT50- MTB5- 120 221.8 120 63 | 44.399 AOT(L"- 8) 4.30kg 2830

@cso



Milling yStem

(—— g
A N
S TIREEE, UMHMOTESH . s
e epanTmEd e ln e e
+ AERABURERE, EROMNENALEER, PARZHE

NIBETHIE 4 When the cutting tool is installing, when
edge's notch even face alines with the hilt
ZUSREAA Model explanation side solid bolt, force locking.
@ The side solid -like handle department shape has the difference,
BT40|-|SLA -
@l &gﬁmm‘mﬁg the use side solid -like hilt also has the difference, must confirm
MW ExmEaE the side solid -like bolt's position.
BT
TR
L
/ I/ ‘
SK : : \dl dz2
P02 /11 G
P03- P04 3 L2
HM P09 L4
SR
308800 BT30- SLN6- 60 108.4 25 M6x1.0P 0.55kg 440
308802 BT30- SLN8- 60 108.4 18 40 28 M8x1.25P 0.60kg 445
ADS 308804 BT30- SLN10- 60 108.4 20 44 35 M10x1.5P 1 0.70kg 445
308806 BT30- SLN12- 60 108.4 | 22.5 49 42 | M12x1.75P 0.75kg 445
308808 BT30- SLN16- 75 123.4 24 52 48 M14x2.0P 1.05kg 570
308810 BT30- SLN20- 75 123.4 25 54 52 M16x2.0P 1.10kg 575
308812 BT30- SLN25- 90 138.4 24 25 59 65 M18x2.0P 2 1.70kg 750
308814 BT40- SLN6- 50 115.4 1.10kg 555
25 M6x1.0P
308816 BT40- SLN6- 150 215.4 1.32kg 825
ER 18 40
308818 BT40- SLN8- 50 115.4 1.10kg 555
28 M8x1.25P
308820 BT40- SLN8- 150 215.4 1.30kg 825
0z 308822 BT40- SLN10- 63 128.4 1.25kg 635
20 -- 44 35 M10x1.5P
308824 BT40- SLN10- 150 215.4 1.40kg 830
308826 BT40- SLN12- 63 128.4 ! 1.30kg 635
22.5 49 42 | M12x1.75P
308828 BT40- SLN12- 150 215.4 1.53kg 830
308830 BT40- SLN16- 63 128.4 52 " 1.40kg 635
308832 BT40- SLN16- 150 215.4 24 M14x2.0P 1.60kg 835
308834 BT40- SLN18- 63 128.4 50 1.65kg 640
54
308836 BT40- SLN20- 63 128.4 25 52 M16x2.0P 1.40kg 635
308838 BT40- SLN25- 100 165.4 ” 25 59 65 M18x2.0P 5 2.50kg 910
308840 BT40- SLN32- 100 165.4 28 63 72 M20x2.0P 2.75kg 955
308842 BT50- SLN6- 63 164.8 18 40 25 M6x1.0P 3.80kg 1465
308844 BT50- SLN8- 63 164.8 28 M8x1.25P 3.80kg 1440
308846 BT50- SLN10- 63 164.8 20 . 44 35 M10x1.5P 1 3.00kg 1450
308848 BT50- SLN12- 80 181.8 | 225 49 42 | M12x1.75P 4.00kg 1590
308850 BT50- SLN16- 80 181.8 24 52 48 M14x2.0P 4.40kg 1595
308852 BT50- SLN20- 80 181.8 25 54 52 M16x2.0P 4.40kg 1595
308854 BT50- SLN25- 100 201.8 " 25 59 65 M18x2.0P 5.10kg 1725
308856 BT50- SLN32- 105 206.8 28 63 72 5.20kg 1785
308858 BT50- SLN40- 115 216.8 6.60kg 2080
M20x2.0P
308860 BT50- SLN40- 120 221.8 30 32 73 90 2 6.70kg 2110
308862 BT50- SLN42- 120 221.8 6.70kg 2110
308864 BT50- SLN50- 120 221.8 35 35 78 100 | M24x2.0P 6.80kg 2255
308866 BT50- SLN50.8-120 | 221.8 | 33.1 | 28.58 6.80kg 2255
78 95 M20x2.0P
308868 BT50- SLN50.8-120 | 221.8 | 33.1 | 25.58 6.60kg 3110
3
308870 BT50- SLN63- 120 221.8 | 33.1 | 25.58| 80 125 | M16x2.0P 6.60kg 3110

Jc41



H5

DIN69871- AD

G6.3 8®O00RPM

SK
HM
P02
PO3- P04

P09 SR

ADS
308900 | BT40- SLN6-75J 140.4| 12 | 10 | 45 | 25 - 1 1.30kg 680
308902 | BT40- SLN6-150J | 215.4| 12 | 10 45 | 25 | 30 | MExLOP [ 1.50kg 830
308904 | BT40- SLNS8-75J 140.4| 14 | 12 | 45 | 28 - 1 1.30kg 680
308906 | BT40- SLN8-150J | 215.4| 14 | 12 45 | 28 | 33 | M8L25P [ 1.50kg 830
308908 | BT40-SLN10-75J | 140.4| 15 | 14 | 49 | 35 - 1 1.30kg 680
308910 | BT40-SLN10-150J | 215.4| 15 | 14 | 49 | 24 | 40 2 1.50kg 830

308912 | BT40-SLN12-75J | 140.4| 20 | 16 54 | 42 - | vrox1.0sp L1 1.50kg 685 ER
308914 | BT40-SLN12-150J | 215.4| 20 | 16 54 | 42 | 47 2 1.70kg 835

308916 | BT40-SLN16-75J | 140.4| 22 | 18 57 | 48 - 1 1.50kg 685 0z
308918 | BT40- SLN16-150J | 215.4| 22 | 18 57 | 48 | 53 2 1.70kg 835
308920 | BT40-SLN20-90J | 155.4| 25 | 20 65 | 50 - 1 1.60kg 775
308922 | BT40- SLN20-150J | 215.4| 25 | 20 65 | 50 | 57 |M12x1.75P| 2 1.80kg 835
308924 | BT40-SLN25-90J | 155.4| 24 | 25 68 | 50 - 1 2.50kg 910
308926 | BT40-SLN32-100J | 165.4| 24 | 28 73 | 60 | 47 | miexzop| 1 2.75kg 955
308928 | BT50- SLN6-75J 176.8| 12 | 10 | 45 | 25 | 47 | mexiop | 1 3.90kg 1545
308930 | BT50- SLN8- 75J 176.8| 14 | 12 | 45 | 28 | 47 | M8x1.25P | 1 3.90kg 1545
308932 | BT50-SLN10-75J | 176.8| 15 | 14 | 49 | 35 | 47 1 3.90kg 1545
308934 | BT50-SLN12-90J | 191.8] 20 | 16 54 | 42 | 47 1 3.90kg 1620
308936 | BT50-SLN12-165J | 266.8] 20 | 16 54 | 42 | 47 |M10x1.05P| 2 5.00kg 1805
308938 | BT50-SLN16-90J | 191.8| 22 | 18 57 | 48 - 1 3.90kg 1620
308940 | BT50- SLN16-165J | 266.8| 22 | 18 57 | 48 | 53 2 5.00kg 1845
308942 | BT50-SLN20-90J | 191.8| 25 | 20 65 | 50 - 1 4.50kg 1630
308944 | BT50- SLN20-165J | 266.8] 25 | 20 65 | 50 | 57 2 6.00kg 1950
308946 | BT50- SLN20-210J | 311.8| 25 | 20 65 | 50 | 57 2 7.00kg 2255
308948 | BT50-SLN25-100J | 201.8| 24 | 25 68 | 50 -~ Im12x1.75P| 1 4.5kg 1715
308950 | BT50- SLN25-165J | 266.8| 24 | 25 68 | 50 | 57 2 5.5kg 2035
308952 | BT50-SLN25-210J | 311.8| 24 | 25 68 | 50 | 57 2 6.0kg 2360
308954 | BT50- SLN25-250J | 351.8| 24 | 25 68 | 50 | 57 2 7.0kg 2620
308956 | BT50- SLN32-105J | 351.8| 24 | 28 73 | 60 - 1 4.8kg 1780
308958 | BT50- SLN32-165J | 266.8| 24 | 28 73 | 50 | 60 2 6.2kg 2105
308960 | BT50- SLN32-210J | 311.8| 24 | 28 73 | 50 | 60 | M16x2.0P | 2 6.3kg 2430
308962 | BT50-SLN32-250J | 351.8| 24 | 28 73 | 50 | 60 2 7.5kg 2715
308964 | BT50- SLN32-300J | 401.8| 24 | 28 73 | 60 | 65 2 8.0kg 3015

@casz



Milling yStem

HS5
DIN-1835-B
h6~h7
G6.3 8®O00RPM

SK
HM : 13 . 12
7 Y
/ﬂny T
SR 1 Lom pe I | B L._.lft\.[_ _‘;‘%
P02 -
ADS P83— P04 ﬁ-l 11
P09 L

309000 DAT30- SLN6- 50 97.8 18 25 M6x1.0P 0.73kg | 540

ER 309002 DAT30- SLN8- 50 97.8 18 28 M18x2.0P 0.80kg | 540
309004 DAT30- SLN10- 50 97.8 20 35 M10x1.5P 0.90kg | 540
309006 DAT30- SLN12- 50 97.8 22.5 42 M12x1.75P 0.90kg | 525

0z 309008 DAT30- SLN16- 63 110.8 24 48 M14x2.0P 1.10kg | 550
309010 DAT40- SLN6- 50 118.4 18 - 25 M6x1.0P 0.85kg | 660
309012 DAT40- SLN8- 50 118.4 18 28 M18x2.0P 1.00kg | 670
309014 DAT40- SLN10- 50 118.4 20 35 M10x1.5P 1.10kg | 670
309016 DAT40- SLN12- 50 118.4 22.5 42 M12x1.75P 1.15kg | 655
309018 DAT40- SLN16- 63 131.4 24 48 M14x2.0P 1.40kg | 695
309020 DAT40- SLN20- 63 131.4 25 52 M16x2.0P 1.30kg | 695
309022 DAT40- SLN25- 100 168.4 24 25 65 M18x2.0P 1 2.40kg | 840
309024 DAT40- SLN32- 100 168.4 24 28 72 M20x2.0P 2.70kg | 900
309026 DAT50- SLN6- 63 164.75 18 25 M6x1.0P 3.10kg | 1295
309028 DAT50- SLN8- 63 164.75 18 28 M18x2.0P 3.10kg | 1295
309030 DAT50- SLN10- 63 164.75 20 ) 35 M10x1.5P 3.30kg | 1300
309032 DAT50- SLN12- 63 164.75 22.5 42 M12x1.75P 3.50kg | 1670
309034 DAT50- SLN16- 63 164.75 24 48 M14x2.0P 3.45kg | 1305
309036 DAT50- SLN20- 63 164.75 25 52 M16x2.0P 3.50kg | 1310
309038 DAT50- SLN25- 80 181.75 24 65 M18x2.0P 4.20kg | 1400
309040 DAT50- SLN32- 100 201.75 24 25 72 M20x2.0P 5.00kg | 1515
309042 DAT50- SLN40- 100 201.75 30 90 M20x2.0P 5.60kg | 1550
309044 DAT50- SLN42- 100 201.75 30 32 90 M20x2.0P 5.70kg | 1555
309046 DAT50- SLN50- 125 226.75 35 35 100 M24x2.0P 5.90kg | 1760
309048 DAT50- SLN50.8- 120 | 221.75 33.1 28.58 95 M20x2.0P 2 5.80kg | 2305
309050 DAT50- SLN63- 150 250.75 40 40 125 M20x2.0P 1 6.20kg | 2395
309052 DAT50- SLN63- 150 250.75 40 24 125 M16x2.0P 6.20kg 3305

cas



SK

HM
P02
P03- P04
P09 SR
, mm

ADS
309100 NT30- SLN6- 40 25 18 M6x1.0P 0.50kg 595
309102 NT30- SLN8- 40 108.4 28 18 M8x1.25P 0.60kg 600
309104 NT30- SLN10- 40 35 20 M10x1.5P 0.60kg 600

309106 NT30- SLN12- 50 s 42 22.5 N M12x1.75P | 0.65kg | 600 ER
309108 NT30- SLN16- 50 48 24 M14x2.0P 0.75kg 600
309110 NT30- SLN20- 63 131.4 52 25 M16x2.0P 1.10kg 610

309112 NT30- SLN25- 80 148.4 65 24 25 M18x2.0P 1.20kg 640 0oz
309114 NT40- SLN6-50 25 18 M6x1.0P 0.90kg 705
309116 NT40- SLN8- 50 143.4 28 18 M8x1.25P 0.95kg 695
309118 NT40- SLN10- 50 35 20 M10x1.5P 1.10kg 695
309120 NT40- SLN12- 50 42 22.5 o M12x1.75P 1.00kg 675
309122 NT40- SLN16- 63 48 24 M14x2.0P 1.40kg 715
309124 NT40- SLN20- 63 156.4 52 25 M16x2.0P 1.45kg 745
309126 NT40- SLN25- 80 65 24 25 M18x2.0P 2.10kg 880
309128 NT40- SLN32- 80 1734 72 24 28 M20x2.0P 2.50kg 955
309130 NT50- SLN6- 63 25 18 M6x1.0P 2.90kg 1490
309132 NT50- SLN8- 63 28 18 M8x1.25P 3.00kg 1480
309134 NT50- SLN10- 63 189.8 35 20 N M10x1.5P 3.20kg 1485
309136 NT50- SLN12- 63 42 22.5 M12x1.75P 3.30kg 1475
309138 NT50- SLN16- 63 48 24 M14x2.0P 3.50kg 1485
309140 NT50- SLN20- 63 52 25 M16x2.0P 3.60kg 1535
309142 NT50- SLN25- 80 206.8 65 24 25 M18x2.0P 4.20kg 1665
309144 NT50- SLN32- 80 72 24 28 4.40kg 1670
309146 NT50- SLN40- 100 226.8 90 30 4.40kg 1760
309148 NT50- SLN40- 120 90 30 32 M20x2.0p 4.20kg 1850
309150 NT50- SLN42- 120 90 30 4.60kg 1715
309152 NT50- SLN50- 120 246.8 100 35 35 4.80kg 1855
309154 NT50- SLN63- 120 125 40 40 M24x2.0P 5.40kg 2665
309156 NT50- SLN50.8- 120 95 33.1 28.58 M20x2.0P 5.00kg 1885

@ca4



Milling yStem

(—— C]
1” ) —4
e 15119 Iy

H 5 Finishing Roughing. Plane Processing  End processing  Slootplunge miling  Heavy cutting

DIN-1835-B h6~h7

G6.3 ®O00RPM

1
00000

SK P02
P03- P04
P09
HM
309200 HSK50A- SLN6- 65 18 25 M6x1.0P 0.7kg 1617
309202 HSK50A- SLN8- 65 90 39 18 28 M8x1.25P 0.8kg 1625
SR 309204 HSK50A- SLN10- 65 20 35 M10x1.5P 0.8kg 1592
309206 HSK50A- SLN12- 80 22.5 42 M12x1.75P 1.2kg 1658
309208 HSK50A- SLN14- 80 22.5 44 1.3kg 1667
309210 HSK50A- SLN16- 80 105 54 24 48 M14x2.0P 1.3kg 1675
309212 HSK50A- SLN18- 80 24 50 ) 1.4kg 1683
ADS 309214 HSK50A- SLN20- 80 25 -— 52 M16x2.0P 1.5kg 1700
309216 HSK63A- SLN6- 65 18 25 M6x1.0P 0.9kg 1908
309218 HSK63A- SLN8- 65 97 39 18 28 M8x1.25P 1.0kg 1917
309220 HSK63A- SLN10- 65 20 35 M10x1.5P 1.0kg 1883
309222 HSK63A- SLN12- 80 22.5 42 M12x1.75P 1.7kg 2000
309224 HSK63A- SLN14- 80 22.5 44 1.7kg 1925
309226 HSK63A- SLN16- 80 112 54 24 48 M14x2 OP 1.7kg 1925
309228 HSK63A- SLN18- 80 24 50 ) 1.8kg 1933
309230 HSK63A- SLN20- 80 25 52 M16x2.0P 1.8kg 1933
ER 309232 HSK63A- SLN25- 110 142 84 24 25 65 M18x2.0P 2.5kg 2433
309234 HSK63A- SLN32- 110 24 28 72 M20x2.0P 2.7kg 2583
309236 HSK100A- SLN6- 80 18 25 M6x1.0P 3.0kg 3875
309238 HSK100A- SLN8- 80 18 28 M8x1.25P 3.2kg 3883
0z 309240 HSK100A- SLN10- 80 130 51 20 35 M10x1.5P 3.4kg 3892
309242 HSK100A- SLN12- 80 22.5 . 42 M12x1.75P 3.4kg 3975
309244 HSK100A- SLN14- 80 22.5 44 ) 3.5kg 3983
309246 HSK100A- SLN16- 100 24 48 M14x2.0P 3.8kg 4158
309248 HSK100A- SLN18- 100 24 50 3.8kg 4158
309250 HSK100A- SLN20- 100 150 25 52 M16x2.0P 3.9kg 4175
309252 HSK100A- SLN25- 100 71 24 25 65 M18x2.0P 4.0kg 4242
309254 HSK100A- SLN32- 100 24 28 72 M20x2.OP 4.1kg 4242
309256 HSK100A- SLN40- 120 170 30 32 90 ' 4.4kg 4542
309300 HSK40A- SLN1/4"-2.5" 3.287 | 0.63 1.38 0.78 1/4- 28 0.31kg 1358
309302 HSK40A- SLN3/8"-2.5" 3.287 | 0.75 1.535 1 3/8-24 0.42kg 1325
309304 |HSK40A-SLN1/2"-2.75" 3.537 | 0.875 1.732 1.25 7/16- 20 0.57kg 1342
309306  |HSK40A- SLN5/8"- 3" 3.787 | 0.937 1.85 1.5 1/2- 20 0.69kg 1417
309308 |HSK63A- SLN1/4"- 3" 4.26 0.63 - 1.38 0.78 1/4- 28 0.76kg 1767
309310 |HSK63A- SLN3/8"- 3" 4.26 0.75 1.535 1 3/8- 24 0.88kg 1758
309312 |HSK63A- SLN1/2"- 3" 4.26 | 0.875 1.73 1.25 7/16- 20 1.13kg 1742
309314 |HSK63A- SLN5/8"-3.75" 5 0.937 1.85 1.5 1/2- 20 1.26kg 1842
309316 |HSK63A- SLN3/4"-3.75" 5 1 1.929 | 1.75 5/8-18 1.33kg 1858
309318 |HSK63A-SLN1"-3.75" 5 1.125 1 2.559 2 3/4- 16 2.30kg 1942
309320 |HSKG63A-SLN1-1/4"-4.25" 5.51 1.125 2.559 2.5 2.52kg 2100
309322 |HSK100A- SLN1/4"-3" 4.97 0.63 1.38 0.78 1/4- 28 2.16kg 3367
309324 |HSK100A- SLN3/8"-3" 4.97 0.75 1.535 1 3/8-24 2.31kg 3358
309326 |HSK100A- SLN1/2"-3.25" 5.219 | 0.875 -- 1.732 | 1.25 7/16- 20 2.45kg 3425
309328 |HSK100A- SLN5/8"-3.75" 5.719 | 0.937 1.85 1.5 1/2- 20 2.84kg 3592
309330 |HSK100A- SLN3/4"-3.75" 5.719 1 1.929 | 1.75 5/8- 18 2.95kg 3608
309332 |HSK100A-SLN1"-4.25" 6.219 | 1.125 2.559 2 3.46kg 3808
309334 |HSK100A- SLN1-1/4"-4.25" | 6.219 | 1.125 1 2.559 2.5 3/4- 16 3.73kg 3842
309336 |HSK100A- SLN1-1/2"-4.5" 6.469 | 1.125 2.756 2.5 5.51kg 4008
309338 |HSK100A-SLN2"-5.5" 7.469 | 1.335 1.41 | 3.347 3.75 1-14 6.37kg 4433

i cas



H5
DIN-1835-B h6~h7
2 o

G6.3 ®00RPM

14
T i 13 12
\! L SK
1 1
a j ?
S A | <
T © HM
P02
P03- P04 SR
P09
11
L
ADS
309400 | HSK50A- SLNB6- 80 18 25 M5 M6x1.0P 0.8kg 1675
309402 | HSK50A- SLNB8- 80 105 54 18 28 M6 | M8x1.25P | 0.9kg 1675
309404 | HSK50A- SLNB10- 80 20 35 M8 | M10x1.5P | 0.9kg 1658
309406 | HSK50A- SLNB12- 90 22.5 42 1.3kg 1700 ER
M10 | M12x1.75P
309408 | HSK50A- SLNB14- 90 6 22.5 44 1.4kg 1975
115 4
309410 | HSK50A- SLNB16- 90 24 48 1.4kg 1775
M12 | M14x2.0P
309412 | HSK50A- SLNB18- 90 24 50 1.6kg | 1792 0z
309414 | HSK50A- SLNB20- 100 125 74 25 52 M16 | M16x2.0P | 1.7kg 1833
309416 | HSK63A- SLNB6- 80 18 T 25 M5 M6x1.0P 1.0kg 2425
309418 | HSK63A- SLNBS- 80 112 54 18 28 M6 M8x1.25P | 1.1kg 2433
309420 | HSK63A- SLNB10- 80 20 35 M8 M10x1.5P | 1.1kg 2400
309422 | HSK63A- SLNBB12- 90 22.5 42 2.0kg 2525
122 64 M10 | M12x1.75P
309424 | HSK63A- SLNB14- 90 22.5 44 2.0kg 2525
309426 | HSK63A- SLNB16- 100 24 48 2.0kg 2583
M12 | M14x2.0P
309428 | HSK63A- SLNB18- 100 132 74 24 50 2.1kg 2592
309430 | HSK63A- SLNB20- 100 25 52 M16 | M16x2.0P | 2.1kg 2592
309432 | HSK63A- SLNB25- 110 24 25 65 M18x2.0P | 2.6kg 2575
142 84 M20
309434 | HSK63A- SLNB32- 110 24 28 72 M20x2.0P | 2.8kg 3083
309436 | HSK100A- SLNB6- 90 18 25 M5 M6x1.0P 3.4kg 4758
309438 | HSK100A- SLNBS- 90 140 61 18 28 M6 | M8x1.25P | 3.5kg 4758
309440 | HSK100A- SLNB10- 90 20 35 M8 | M10x1.5P | 3.8kg 4758
309442 | HSK100A- SLNB12- 100 22.5 . 42 3.8kg 4725
M10 | M12x1.75P
309444 | HSK100A- SLNB14- 100 150 71 22.5 44 4.0kg 4750
309446 | HSK100A- SLNB16- 100 24 48 4.0kg 4758
M12 | M14x2.0P
309448 | HSK100A- SLNB18- 100 24 50 4.0kg 4758
309450 | HSK100A- SLNB20- 110 160 81 25 52 M16 | M16x2.0P | 4.2kg 5075
309452 | HSK100A- SLNB25- 120 24 25 65 M18x2.0P | 4.4kg 5325
309454 | HSK100A- SLNB32- 120 170 91 24 28 72 M20 4.5kg 5342
309456 | HSK100A- SLNB40- 120 30 32 90 M20x2.0P 5.0kg 5392

@C46



Milling yStem

. “S 7
e
7kgflcm?
3000rpm
SK
HM
SR
P02
P03- P04
P09
ADS
mm
ER
T40- OSL16- 165 )
309500 B 48 .- ) M12x1 75p |3:1kd 4665
o7 309502 BT40- OSL20- 165 50 46.5 3.5kg 4670
65
309504 BT40- OSL25- 165 56 3.5k 4670
15 20 M16x2.0P g
309506 BT40- OSL32- 165 60 47 3.5kg 4670
309508 BT40- OSL16- 165S 48 82 3.1kg 5525
25 - M12x1.75P
309510 BT40- OSL20- 165S 50 48 3.5kg 5535
309512 BT40- OSL25- 165S 56 60 3.5kg 5535
15 20 M12x1.75P
309514 BT40- OSL32- 165S 60 49.5 3.8kg 5540
309516 BT50- OSL16- 165 48 7.0kg 6165
25 - M14x2.0P
309518 BT50- OSL20- 165 50 o8 58 7.5kg 6175
309520 BT50- OSL25- 165 56 80 7.5kg | 6175
15 20 M16x2.0P
309522 BT50- OSL32- 165 60 7.8kg 6180
309524 BT50- OSL40- 170 62 15 25 | 105 56 M14x2.0P 8.5kg 6195
309526 BT50- OSL16- 165M 48 7.1kg 7585
25 - M12x1.75P
309528 BT50- OSL20- 165M 50 o8 58 7.6kg 7595
309530 BT50- OSL25- 165M 56 2 7.7k 7595
15 20 8 M16x2.0P 4
309532 BT50- OSL32- 165M 60 7.8kg 7595
309534 BT50- OSL40- 170M 62 15 25 | 105 56 M14x2.0P 8.5kg 7610
309536 BT50- OSL16- 165L 48 7.2kg 7585
25 - M12x1.75P
309538 BT50- OSL20- 165L 50 o8 5s 7.8kg 7595
309540 BT50- OSL25- 165L 56 85 7.8kg 7595
15 20 M16x2.0P
309542 BT50- OSL32- 165L 60 8.0kg 7600
309544 BT50- OSL40- 170L 62 15 25 105 56 M14x2.0P 8.7kg 7615

o



C| ptt e d |D
[
\ L H1--|
mm —
11 L D 12 SK
Order oN Model N.W. Price
309600 OSL- 20- 16 48 54 30 0.07kg 305
309602 OSL- 25- 16 48 60 35 0.19kg 310 HM
309604 OSL- 25- 20 50 0.15kg 305
309606 OSL- 32- 16 48 0.35kg 310 —
309608 OSL-32-20 50 64 42 55 0.32kg 310 SR
309610 OSL- 32- 25 56 ' 0.22kg 310
309612 OSL- 40- 16 48 0.57kg 405
309614 OSL- 40- 20 50 0.54kg 405 ADS
50
309616 OSL- 40- 25 56 & 0.45kg 405
309618 OSL- 40- 32 60 0.30kg 400
ER
oz
L D —
-
/‘:‘ +
[ (@)
\\/ J
< °
== P02
PO5- P06
P02
P03- P04
P09 ‘mm —

di d2 B

Order oN Model —
309700 BT40- OHER16- 160 28 | 16 M10 | 3.80kg 4755
309702 BT40- OHER20- 160 34 | 20 M12 | 4.10kg 4765

225.4 82 65
309704 BT40- OHER25- 160 42 | 25 e |_4:30kg 4785
309706 BT40- OHER32- 160 50 | 32 4.50kg 4820
309708 BT50- OHER16- 160 160 28 | 16 M10 | 7.00kg 6165
309710 BT50- OHER20- 160 34 | 20 M12 | 7.10kg 6165
309712 BT50- OHER25- 160 | 261.8 98 | 42 | 25 | 80 vi1e |_7-20kg 6180
309714 BT50- OHER32- 160 50 | 32 7.30kg 6205
309716 BT50- OHER40- 160 63 | 40 M20 | 7.50kg 6140




